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PART 1

Objective Questions
¢ Multiple Choice Questions

1. The movement has not looked back means that
(a it is still evident
[l it has become popular
fh it is still comtinuing as a success
(dy it has resulted in positive and kng-term changes

Ans. {c) The movement has not looked back means that the
maovemsend is still continaring to be o aweess.

2. What is the meaning of holistic and ecological view?
(a} The preservation of the envirmmmend
(b Saving of the water resources
() Savings bees
[} Raimwater harvest

Ans. (a) The phrase ‘holistic am] ecological view” means a view

that focuses on the preservation and the maintenance of the
envirmmment.

3. “The Earth’s vital signs reveal a patient in declining

health™.
In the statement above, which literary device is
used to signify “Earth'?
(a) Hyperhale (b} Mletaphor
() lmageny () Personification

Ans. {d) Personification means to attribute homan characteristics
o nomelnaman thimgs.

By comparing Earth te a patient, the author is personifving
it.

4. Select the suitable option for the given statements,
hased on your reading of “The Ailing Flanet'.
(i} The Green Movemssit becume poplar amongst

coanmon man in 1572,
(i} The First green party was formed in New Zealand.
(a) (i} is false (id) & true
(i Beath (i) and (i) are Glse
Coh (it} is a faet but unrelated bo (i)
(b (i) is the precarsar of (i)
Ans. {d) Alter the first Creen party was [ormed in New Zealand in

1972, the Green movement gained popularity in the workl
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8. Select the roles assigned to humans with respect to

The Ailing Planet’.

(i) Trustes (i) Caretaker
lidi) (hawner {iv) |".1.r|!||rn.|'|iu

(v} Basrrowwer

) (i), (i), iia) and {iv) A} g, i), Give) amal )
) G, Gii), (iv]) amed {v) Ll d5). fisi), (i) amed (v

Anz. {b) The chapler refers b humans as the “stewards” aml

‘trudess of the Earth. Later, through Mre Lester Broswn's
waords, they have been referred b as the horrowers”. Amd,
the I:]I-I[]bl:"T!- suggests that in order o oot the
emvironment, it and humans have to live in harmony as
‘partners’.

Hence, option (k) is the comrect answer.

« What is the coneept of sustainable development?

{a) Development of the future such that the present is mob
effected

() Development lor the present with the purpose of comfort
for the Ruture

(£} Development that meets the needs of the present,
without compromising the ability of ibire generations

(e} Environmental development

Anz. [} The concept of sustainable development suggesis thai

nartural resources should be used in such o manner that does
not compromise the ahility of the future generations to use
those resouroes,

7. By calling man “the most dangerous animal in the

warld”, the author is ......ooooman for its setivities.
{a) condemning

{3} tanmting

) kabelling

{d) eriminalising

Ans. {c)

B. The author states that man is moving to a system

based on partnership.

This indicates a system where
{a) resources are used with care

() resources are rarely used

fe) albernative resourees ane used
() resources are given rehabilitation time.

Anz. {a) A system based on parinership is a system wherein all the

resmurees ane wsed with e,



9. The first Brandt Report raised the question-"Are we 14,
to leave our successors a scorched planet of
achvancing deserts, impoverished landscapes and
ailing environment.”

Select the option that explains it.

{a) The report highlights the exponential increase in the
negative impact of activities of development

(b} The report points be the need to shift wands the
principle of sustamable development

Select the commect options with reference to the

given statements on the basis of vour reading of

“The Ailing Planet’.

(i} Increasing population is omwe of the major reasons for
il r':l.|l]ui|:'.i.'lll||. of the envinmument.

(i) Ecucation is considered to be the best contraceplive
for overpopulation.

fa) Omby (i) is cormect (b} Chnaly fig) is eorrect

e Both (i) ana {if) are correct (d) ¥ either is cormeet

() The "'T"'ﬂ reflects that man has to be environmentally Anz. (a) Oy (i) is correct as development is considersd o be the
COnsCHmE best cont ive Latic

{d) The report takes data froas various coumtries and justifies . Inrm .:
its stance of sustainalility 15. When Margaret Thatcher savs, “No generation has

Ans. (b The report and the question it asks are significant as they
highlight b humankind needs to shift towards the
principhe of sustainable development.

10. What will the grassland tum into if svstems become

a freehold on this earth. All we have is a life
temancy — with a full repairing lease”, what does
she highlight?

{a} The need to fimd alternate sources of natural resounces

unsustatnabled () The need o become envimmment conscious
() Turn inko | - {e) The need bo undlerstamal the negative impact of man’s
. ) actiomns
:“:;:“I“ :::E:deﬂ - () The need for the change in the relationship shared with
il o v erin ma ke
(dh Dronght lands Ans. (h) By making the statement, Margaret Thatcher highlights

Ans. (b) The grasslands will furn inte desert if systems beeome
unsustainalde.

hera the socicty nesds o become environment conscious amd
make efforts for its benefit.

11. At what rate is the world's ancient patrimony of ¢ Extract Based MCQs

tropical forests ersding?
(a) At the rate of one million per year 1
(i) At the rte of orty to Gty million acres a year
() At the rate of 90 million per year
() Mome of the above
Ans. (b) The world's ancient patrimony of tropical forests is
eroding at the rate of forty o bty million acres a year.
12. Classify (1) to (4) as Fact (1) or Opinion (0), based
om vour resding of The Ailing Planet™.
L. The lndian peophe do ool usderstand te significanmsce
of the green movement.
2. Article 48 A puts the responsibility of preservation of
environ el on the government.
3. The government is (o be beld responsible for the
cuirrent stle of the enviromment.
4. Even the government dati is based on estimations,
(a) Fel, 2,003, 4 {b) Fe2, 3, 4 ; Ol
(o) Fel, 4 ;02,3 ) Fe2, 4, 0 1, 3
Ans. (d)

13. Which of the following is TRUE for the study
conducted bw the United Nations? (i
(a} Environment is deteriorating critivalby
(b} Forest land is exponentially reducing
(e} Matural resounces ane mist renewing properly
() Fossil Fuels are not sustainahle
Ans. {a) The threesear shudy shows that the environment has

Rewd the extract given below and answer questions

that follow.

“We have shifted — one hopes, imrevocably — from
the mechanistic view to a holistic and ecological
view of the world. It is a shift in human perceptions
as revolutionary as that introduced by Copernicus
who taught mankind in the sisteenth century that
the earth and the other planets revolved round the
sun. For the first time in human history, there is a
growing worldwide consciousness that the Earth
itselfl iz a living organism — an enormous being of
which we are parts. It has its own metabolic needs
anid vital processes which need to be respected and
preserved.

The earth’s vital signs reveal a patient in declining
hiealth. We have begun to realise our ethical
obligations to be good stewards of the planet and
responsible trustees of the legacy to future
generations.

What is meant by the ‘mechanistic view™ in the
extract?

fa) A workbaew of machinery

(b A worlchview without hamman beings in it

fe) Depleting value of mankind

H:I None of the abooe

deteriorated and that it is critical in cightveeight countries. Ans. (a) The ‘mechanistic view of the world” means looking ag the
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ward as if it was a machine that needs to be recklessly used



{ii) The phrase "holistic and ecological view” harbors the
relationship based on
fa} Sulservience (b} Partnership
(e} Trustes () Owner

Ans. () The holistic and ecological view harbors a relation based on
partnership wherein both nabure and mankinsd are
interdependent on each other.

{iii) The passage mentions that the earth has metabolic
needs. It means that
fa it mecds time to heal
(3 it has its own processes and functions
fch it needs time to renew and maintain balance
(ol it has o make sure that man geis everything

Ans. (c) Saving that the Earth has metabolic needs means that the
Earth needs it own time by renew itsell so that it can maintain
the ecolugical balance.

(iv) Why does the writer exemplify Copemicus to
comment on the issue?
{a) Tor justify the need to save brees
(b} Because he was a fun of Copernicus
(e} As Copernicus fought for the cause
(d} To comirast the change in huiman perspective

Ans. (d) The writer uses the impact of Copemnicus” research and
time to contrast it with the need to bring change in the human
perspeetive.

iv) In what tone does the writer present their concerns?

(a) Preaching (b Conslescending
e} Informative {el) Inspiring

Ans. (d) The tone is inspiring as it tends o mspire people io ke
actiom.

2. Read the extract given below to answer the questions
that follow.

“In poor countries, local forests are being decimated
in order to procure firewood for cooking. In some
places, firewomd has become so expensive that “what
goes under the pot now costs more than what goes
inside it". Since the tropical forest is, in the words of
Dr Myers, “the powerhouse of evolution”, several
species of life face extinction as a result of its
destruction.

It has been well said that forests precede mankind;
deserts follow. The world's ancient patrimony of
tropical forests is now eroding at the rate of forty to
fifty million acres a vear, and the growing use of dung
for burning deprives the soil of an important natuaral
fertiliser. The World Bank estimates that a five-fold
increase in the rate of forest planting is needed to
cope with the expected fuelwood demand in the vear
2000."
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(i) From the above lines, what relation can be made
in the statements below?
I. The cost of what is |ri|:|g cooked is mich lower
than what is being used for conking that.

1. Firewood is so expensive that one cimnot afford it
Y T, the resources for 1.1|.|Ei|:|g have become
fiar e expensive than the :lll.ﬁ:?r]irnl!-

fa) 1 is true bt 11 is not

(b 11 i= the explanation of |

fc) There is no relation between the statements

() 11 is brue bt | is oot

Ans. (b) The connection between the bvo stutements is that
while statement 1 issues the problem, statement 11
explaing anad adeds more o the given information,

(if) “What goes under the pot costs more than what

goes inside the pot” indicates.
(a) Increasing demand of the el
(b} Inerease in inflation
(e} Increasing ecological costs
[d} Increasing uses of wood

Ans. {a) The given lines indicates how the natural resource of
fuel womd is 5o in demans that its prives are soaring sky
hiigh.

(iii) The reference of the growing use of dung is to
highlight the ............... :
(a) depleting forest land
(b} Conversion of grasslands into wastelands
(e} Uver dependence on aliemate fuels
(dy All of the alwwve

Ansz. {d)

{iv) What has been the result of the tropical forests
being “the powerhouse of evolution™?
fa) They promoted technical tools
(b} They cansed eradication of livelihoods of specvies
(c] They improved the search for fodder
() All of the: alusve

Ans. () The result of tropical forests” exploitation by humans
has led io evolution, thus becoming the prwerhouse for
the same, bt it has also led o erdication of livelihomds of
many species and their extinetion,

(v) Select the correct meaning of “forests precede
mankind.
{a) Forests provide evervthing to the mankind
(b} Foresis have taught mankind how to grow and build
{x} Forests were in existence on this planet mach before
the coming of man

{d} None of the above

Ang. (c) The correct meaning of the phrase is that forests were
in existence on this planet moch before the coming of
man.



Objective Questions

» Multiple Choice Questions

1. What is Taplow doing on the last day of school?
{a) Extra work {h) Can’t say
() Passing time {el) Dosing his homework
Ans. (a) On the last day of school, Taplow is doing his extra work
as he waits for Mr CrockersHarris.
2. Why is Taplow waiting for his teacher, Mr
Crocker-Harris?
(a) To apologise to him
() To receive his result
Ans. (c) Taplow was waiting for Mr. CrockersHarris to receive his
remave, e his result.

3. How is Mr. Crocker-Harris different from other

{h) Tor talk about Frank
{el) Tos give hims a present

teachers?
{a) As he is not hiased {h) As he is strict
(i} As he is ald {el) As he is rude

Ans. (a) Mr CrockersHarris is an unbiased teacher who does not
favour any chill. He gave results sccording to the academic

perdormance of his students.

4. Select the suitable option for the given statements,
hased on vour reading of “The Browning Version.
(i} Taglow dicl not really hate the play ‘Agamemnon’ by
."'u.!'h-l.‘ll}']l.l!.
(if) Taglow cisliked the way Crocker Harris taught the
play.
{ah (i) is false buat i) is brue.
(i) Both (i) and (&) are true.
(i) (i) is a fact but unrelated b i),
(o) {5} is the canse for (i),
Ans. (b) Taplow states that he liked the story of Agamemnon ut

he disliked the way it was taght to him by his feacher
Wr. CrockersHarris,

8. Why does Taplow have to do extra work?
{a) Bevause he missed a day previous week as he was sick
(b} Becanse he didn't performed well in his studies

(e} Bevause he was there to help his teacher
() Becanse he was called by his teacher
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Ang. (a) Taplow had to do extra work becanse he missed a day

previous week as he was sick.

B. “Yes, sir, and | might be playing golf. You'd think
he'd have enough to do anyway himself,
considering he's leaving tomorrow for good — but
oh no, | missed a day last week when | was ill —so0
here | am — and look at the weather, sie.”

In the given lines, Taplow sounds .........
fi) Despuiring (b} Dischainful
{c) Hitter () Fegrethal
Ans. () In the given lines, Taplow sounds bitter because instead

of enjoying the weather and playing golf, he had to stay back
in the schoal and study.

1. Frank asks Taplow to imitate Crocker- Harris again.

Select the option that explains it.

(a) Frank is envious of CrockersHarris.

() Frank doesn't think Taphow sounels anything like Mr.
Crocker Harris while imitating him.

(e} Framk is stupefied by the student’s apimion for Crocker
Harris.

() Framk dislikes CrockersHarris.

Ans. (b) Franks asks Taplow to repeat his imitation becanse he
doesn't think that Taplow souncds anything like M.

CrovkersHarris.

8. Classify (1) to (4) as Fact (F) or Opinion {0), hased
on your reading of “The Browning Version',
1. Frank cannot understand why students are afraid of
Crocker Harris.
2 Taplow knows tat if he leaves withoul meeting
Crocker Harris be woulda't get his remove.
3. Frank does not believe in the school Syabemn.
4. Taplow is a very rational child.
fu) Fal, 2, & O3 (b} Fo2, 3 01, 4
{c) Fady (a1, 3,4 () Fa3, 4; (al, 2
Ans. (a)

9. Why did Taplow call Mr. Crocker = Harris hardly
luman'?
() Becanse he is a sist
{h) He does not show any emotions
{c) He is very mde to everyone
{el) He finds prace in failing students
Ang. (b) He calls his professor "hardly human’ as be is all

shriveled up and does not show any emotions.



10. What was Frank’s reaction when Mrs Crocker- Harris
entered the classroom?

(a} He was happy

(b} He was nervous
(ch He was relieved
(dy Mothing unusual
Ans. (c) Frank seemed relieved o see Mrs. CrockersHarris as she
entered the classmoom.

11. Why was Taplow worried that Mrs, Crocker-Harris
might have heard what they were saying?
f{a) As she had been stamding for a fea minotes when they
were busy talking
{b) As she interrupted them talking aloat her hashanad
() As she heard them talking about the Principal

(e} 1t is unclear why he was worried

Ans. () Taplew was worried that Mrs CrockerHarris might have
heard what they were saying about her hushand as she had
heen standding there for a few minutes while they imdtabed
S CrockersHarris,

12. Select the option that correctly deseribes Frank.
I. Friendly Il. Lendient
I Humourous IV, Disrespectiul
Y Unimterested
(a) Al st IV (b) 1, 18 amel 101
() 111 e ¥ () Al bt 11

Ans. (b) Frank seems to be friendly and his approach oswards
education is lenient. He i also humoroas ansd entertains
Taphow with a conversation.

13. Which of the following statements is TRUE about
the play?
I. Framk is curious about Taplow's opinion of

e Crocker=Harris.

Il Taplow is confused about chaosing a subject fo stsdy.

I Tagslow is waiting for M Crockers Huarris.

IV, Mrs. Crocker-Harris asks Frank alsout Taplow's
education.

{a) | and 111 are true (b 1 anad IV are true

(e 11 and 111 are brue (e} None of these

Ans. (a) Frank is curious o knoa: about 8 Crockers Harris and
what Taplow thinks about him, which is why he strikes up a
comversation with Taplow. 1t is while Frank arvives that
Taplow ix waiting for Mr Crockers Harmis to amive.

14. select the central thematic concern of the play,
from the given options.
I. The unigueness of Mr. Crockers Harris
1. The bad beluaviour of Taplow
I Mrs. Crocker Harris's shopging list
IV, The play Agamemnon’
Cah 11 amd 111 (b 10 ame 1
() Uinly 1 () 11l and IV

Ans. () The central thematic concern of the play is the
unigueness of Mre Crockers Harris.
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15. Select the option that lists the characteristics
displaved by Taplow.

I. Obecient I Strange

1. Unempeathetic IV, Straight Forward
V. Respectful

) Al Tat W (1, 1V and ¥

) 11 amad 10D (dl Al bt 11

Ansg. (b} Taplow is obedient, strmightforeard aned respectiul ax he
iz dedivated to his professor, expresses himse lf well amd
respeects his beacher’s orders.

# Extract Based Questions

1. Read the extract given below and answer the
qpuestions that follow.

“Frank What's vour name?

Taplow Taplow.

Frank Taplow! Mo, [ don't. You're not a scientist |
gather?

Taplow Mo, sie, 'm still in the lower fifth. 1 can’t
specialise until next term — that's to say, if 've got
my remaove all right.

Frank Don't vou know if vou've got vour remove®

Taplow XNo sir, Mr Crocker-Harris doesa't tell us
the results like the other masters.

Frank Why not?
Taplow Well, vou know what he's like, sic
Frank | believe there is a mle that form results

should only be announced by the headmaster on
the last day of term.”

(i) What does “remove” mean in this context?

f{a} A division in British schools
(b Take awan something
{c) Unfasten
() Gt rid of

Ans. (a) ‘Kemove', in this context, means a divizsion in British
schonls.

{ii) Select the statement(s) that can be inferred from
the above extract:
I. Frank is meeting Taplow for the first time.

I1. Taplow is a new student of Frank.
I M CrockersHurris is a ratler undogue tescher
{u) | amal 11 are troe (ha} Chuly 11 is true
{c) I amal 111 are trise (b 0, 10 amel DHT e e

Ansg. (o) The extract does not inform the reader whether Taplow is
a new shident of Frank or nof.

(i) What is Frank's reaction when he asks Taplow as to
why he does not know about his remove yvet?
(a) Sad (b) Surprising {c) Angry {el) Happy

Ans. (k) It is surprising to Frank that Taplow has not received his

remove yeb.



fiv) What does Frank mean to say when he states that

Crocker-Harris is unlike other teachers?
(a) He falkows rules
(b} He does not favour any child
() He is not Aexible
{d) He is strict

Anz. () When Frank savs that Crocker- Harris is unlike
other teachers, he wishes to highlight that
Crocker-Harris follows rales. He waits for the
headmaster to tell the results as per the rule which
other teachers do not follow.

(v} By stating the rule, Frank is ............
Mr. Crocker-Harris,

{a) trying in understand {h) defemling
i) negating () clarifying
Ans. (b}

2. Read the extract given helow and answer the
guestions that follow.

“Frank Well, he's ten minutes late. Why don't vou
cut? You could still play golfl before lock-up.

Taplow (really shocked) Oh, noe, 1 couldnt cut. Cut
the Crock — Mr Crocker-Harris? 1 shouldn't think
it’s ever been done in the whole time he's been
here. God knows what would happen if 1 did. He'd
profebly follow me home, or something ...

Frank I must admit | envy him the effect he seems
to have on vou bovs in the form. You all seem

scared to death of him. What does he do — heat

voul all, or something?

Taplow Gonod Lord, no. He's not a sadist, like one
ot twi of the others.”

(i} What makes Mr. Crocker-Harris different from
other teachers?
{a) He might be a scist
(b} He treasures his students
() He values other teachers
() He bas a special influence on students

Ans. () Me CrockersHarris is dilferent from sther teaschers as he
has a special effect on his students.

(i} Frank asks Taplow to cut. He means that Taplow

shoulbd ............ :
{a) leave {h) wait
fc) combact {d) forget

Ans. (a) Frank suggests that Taplew ‘ot ie. leave, as Me Crocker
is bem minubes late.

tiii) Why does Taplow correct himsell immediately after
calling his professor Crock?
(a) Because Mr. Crocker-Harris arrived
(b} Because he i with another teacher
(v} Because he forgot his teacher’s actual name
() Becanse he is sad

Ang. (bj As Frank is another teacher, it is important for Taplow to
show his respect owards Mr. CrockersHarns. Thus, he
immediately cornects himsell after calling his professor
Crock.

(iv) Taplow says that Crocker-Harris is not a sadist.
Select the aption that explains this.

() To negate Frank's bebicf that CrockersHarris beats them.
(h) Tor statee why they are afrasd of CrockerHarmis,

{c) To justify why students are afraid of Crocker Harris.

{dl) To claimn that Crockers Harris was not strict.

Ans. (a) Taplow says that CrockersHarris s not a sadist to elarify
that CrockersHarris does not beat them as Frank
mistcderstandds.

(v} How does Taplow come out in the given extract?
() Rationl
() Matterof fat
(e} Frank
(dl) All of the ubove
Ans. {d)

_____________________________________________________________________________________________________________________________|
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PART 1

Objective Questions

¢ Multiple Choice Questions

1. What is the chapter ‘Silk Road’ ahout?
{a) About the author's journey to complete the ko
() Abeout the suthor's journey to Ravi
() About the author's jourmey to Kashmir
() Nome of the above
Ans. (a) "Silk Boad' is about the authar’s journey to complete the

kora, which starts from slopes of Rava anel enels on Mount
keailush.

2. What is meant by “kora™
(a) Yoga Aasana
(b} Medication
) Mame of a small fown
() Meditation pedformed by Buddhist believers

Ans. (d) Kora is a meditation that is performed by the Buddhist
helievers and is a core religious activity that they complete.

3. Why is Mount Kailash important for the author’s
long journey in the mountains?
{a) Tor show his essential display in Buddhist beliefs
(I} Tor shorw his friencls that he is shventurons
() To meet a friend that lived in the moumtains
() Nome of the above

Ans. () Mount Kailash is important for the anthor's long journey

in the mountains as it completes the kora, which is an
essential display in Buddhist beliels. Baddhists believers are
to pedorm meditation in this process as it i important for
their religious identity.

4. What does Lhamo's act of giving the coat made of
sheepskin reflect on her?
{a) She was charitable
(I} She was native
() She was wusteful
() She cared for the author

Ans. (d) Lhamo's act of giving the author a long sleeve sheepskin

coat as a farewell gift shows that she is a compassionate

womnan who knew that the author wasn't prepared for the
cald of the mountains.

5. Selects the statement(s) that justify(s) the title of the
chapter Silk Road'.
1. Silk is the lake's name that the author crosses.
11 The author explored the old silk route which was one
of the historical routes for trade,
HH1. The author enjoved buving silk for his wife.
IV, The author sees the creation of the silk cloth on his
enlbire jourmey.
fa) Wand IV (b Only 11 (chland T {ed) Only 1V
Ans. (b} The chagter has been tithed "Silk Roasl” bevause the

aithor explored the region of the old silk route which was
o of the historical routes for trade.

6. Select the suitable option for the given statements,

bhased on your reading of "Silk Road'.

(i) The author looks at the passing lasdscape with
childlike curiosity and excitement.

(i) The author has not expected the Landscape 1o be so
beautiful vet grim.

fa) Both (i) and (i) can be inferred

{la) Both (i) and {ii) cammot be inferred

i) (i) cam b inferred bt (i) cannot be inferred

i) (i) canmot be inberred but (i) can be inferred

Ans. (b)

1. Select the option that can be used to deseribe a
Tibetan Mastiff.

(i) Ferocious {ii) Alert
{iii) Friendly {iv) Camly
(v} Loval
(a) (i) andl i) () and {iv)
(c) liv) amel {v) (el (1) and )

Ans. (1) The deseription of the Tibetan Mastill by the author
places them as Terocious” and “alert” dogs who are wary of
strange people and cars.

B. Why did the driver stop the car at a sharp tum?
fa) He was tired and wanbed to rest
() Bevause the author was leeling sick
) As the car's byre got punchured
i) As a long track of snow was in front of them
Ans. (d} The driver stopped the car at a sharp turn as a long track

of s was in fromk of them and it would be diffieult for
them b cross it

_____________________________________________________________________________________________________________________________|
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9. “The slope was steep and studded with major rocks,
but somehow Tsetan negotiated them, his four-wheel
drive vehicle lorching from one obstacle to the next.
The given line shows that ................

{a) the jourmey to do the Kora was nod easy

{h the time chosen by the author to do the Ko was not
wirrect

{c) Tsetan was an expert driver who knew how o joumey
through the roads

() Tsetan was bound to damage his vehicke in driving his car
in such mugh patches.

Ans. () The given lines show that Teetan was an expert in tckling
the iy mads that tne can encmmter on the joursey o do the
Kira,

10. Why was Hor an ugly and miserable place?
(ah 1t had no modem markets
() 1t had no vegetation or peaple
(b 1t dicda’t had amy proper medica] facilities
(b 1t had no place to live
Ans. (b) Hor was an ugly and miserable place as it was devoid of
vegetation, 1t only had dust and rocks, along with garbage.
11. Classify (1) to (4) as Fact (F) or Opinion {(3), based
on vour reading of Silk Road.
I. The author had expected Hor to be a beatiful amd

spiritual place.

£, The lack of pilgrims made the place look so lonely
el mdserabile.

3. The description he had read absout the place also led
to hiis clissatisfaction.

4. Hor was boceted on a draighted Lovd where the only
respite wis the lake.

(a) Fald; 02, 3 () Fe2, 3; 01, 4

() Fa2; 01, 3, 4 {d) Fa3, 4; 061, 2

Ans. {u)
12. What happened when they reached Darchen at

might to stay in the Guest House?
(a) The: anthar slept well
(b Tsetam went missing
() The author was sad
(b The: author wasn't able to breathe properdy
Ans. {d) When they reached archen at night to stay in the goest

house, the author vas't able to breathe properhy and
demansded urgent medical assistance.

13. “As a Buddhist, he told me, he knew that it didn't
really matter if | passed away, but he thought it
wistild be had for business.” Select the option that
explains it.

() Tsetan's beliefs and business are in contradiction o each
ather.

{h) Teetan had become deeply attached b the author.

() Tuetam didd ot believe that it was woong o die in pilgrimage.

{el) Teetan as a hospitable man canmet let o guest die ander
his supervision,
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Ans. {u) Teetan was a Buddhist woho believed that death is not the
emil. He might have gone directly bo heaven as Kailash is a
haly place. But at the sane time be thought it would be bad
il the anthor died becouse it might affect his bosiness and he
conld have lost his credibility.
Why was meeting Norbu a reliefl for the author?
{a) Becanse he finally found some company
(b Bevause Morbu could play with him
fr) Becanse Morhu was a lost [riend of his
) The author was mot relicved to meet Norha
Anz. {a) The author felt relieved st mesting SMorbu because he
finally found some company and wouldn't be left alone. He
alsn suggests hiring vaks to carry their laggages, which the
anthor saw as o good sign.
15. What is the tone employved by the author in the
chapter?
{a) Informative
() Formal
) Informal
() Serious
Ans. () The author employs an infermal tone to comvey his

ahientures and a compelling story of himself on the silk
e,

¢ Extract Based MCQs

1. Read the extract given below and answer the
questions that follow.

“Now that we were leaving Ravu, Lhamo said she
wanted to give me a farewell present. One evening
I'd told her through Daniel that 1 was heading
towards Mount Kailash to complete the kora and
she'd said that | ought to get some warmer clothes.
Alter ducking back into her tent, she emerged
carryving one of the long-sleeved sheepskin coats
that all the men wore. Tsetan sized me up as we
clambered into his car. “Ah, ves,” he declared,
“drokba, sic.” We took a short cut to get off the
Changtang. Tsetan knew a route that would take us
South-West, almost directly towards Mount Kailash.
It involved crossing several fairly high mountain
passes, he said. ”But no problem, sir”, he assured
us, “if there is no snow.” What was the likelihood of
that [ asked. “Not knowing, sic, until we get there.”

{iy Why does the author communicate via Daniel as
can be understood by when he says “1'd told her
through Daniel™?

{a) They did not speak the same language
{l) They were not on speaking terms

) They were afraid o see each other
() Mone of the above

Ans. {u) As Lhamo and the author did not speak the same
language, Daniel assisted the conversation between them.



{ii} Tsetan savs that there will be no problem in their
journey if there is no snow.
He means that snow ........... .
{a) can hasten their movement
(b} detenmines the smoothness of their jouomey
{ch can tell if they can reach Mount Kailash
{d) will increase their difficultics in the journey
Ans. () Snow determines whether their journey through the
short cut would be casy or difficubt as it has the power o
hamper their travel.
(iii} Choose the correct statement{s) that can be inferred
from the passage.
L. Lhiamo was kind and generois o travellers,
I1. Teetan knew the rouwds quite well.
I Dasie] does ot kaow any other linguage than the

atithor s
{a) Oy 111 {h) Oy 11
() Land 11 i) All of these

Ans. (c) Lhamo was kind and generous to the travellers. Teetan
ke the maals well as he suggested a short cut o travel
through io reach quicker. Howeves, Daniel knows more
languages than the auther's as he is able te commumicate in
Tibetan with Lhama, a langunage anknevan to the anthor.

fiv) “Ah. ves,” he declared, “drokle, sir.” Select the
option that explains it.

{a) Tsetan says this as the author is loeking like a drokba
(b} Tsetan had complimented the author

{ch Tsetan wanks by point what the suthor was going to see
(b Tsetan wants bo thank Lhame for the ooat

Ans. (a) The given line is said by Tsetan who states that the anthor
is looking like a drokha.

v} Which of the following can be said about Teetan?
{a) He was an amiable man.
(b} He was expert ak his joh.
{ch He was going om the frst joumey of the season.
(b All of the above.
Ans. {d)

2. Read the extract given below and answer the
ruestions that follow.
“It's a cold,” he said finally through Tsetan. A cold
and the effects of altitude. Ul give vou something
for it.” 1 asked him if he thought 1'd recover enough
to b able to do the kora, "Oh ves.” he said, "vou'll
b fime.”

I walked out of the medical college clutching a
brown envelope stuffed with fifteen screws off
paper. | had a five-day course of Tibetan medicine
which [ started right away. | opened an

alter-breakfast package and found it contained a

brown powder that 1 had to take with hot water. It
tasted just like cinnamon. The contents of the

lunchtime and bedtime packages were less
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obviously identifiable. Both contained small,
spherical brown pellets. They locked suspiciously
like sheep dung, but of course 1 took then. That
night, after my first full day's course, 1 slept very
soundly. Like a log, not a deasd man.

i} What is the author's reaction to the medicine he is
offered?
fa) He is happy to get the treatiment
{l) He is doubstful abont the treatment but succumbs o it
) He is strongly against the medication
() He dlid mot believe that it was real medication

Anz. (b} The author is doubtful about the treatment as the pelleis

lnked like sheep dung but he, despite the suspivion, takes
the medication o heal himself

(i) What is meant by the utterance: “It's a cold,” in the
begining of the extract?
{a) Teetan knew English but chose not b talk to the author

(k) The docter was unhelpiul and selfish tiwards the anthor,
sor hae balked theough Teelam

(o) Teetam translated the comversation between the doctor
and the author

{el) Mome of the alsone

Anz. (c) As the author only knew English and the doctor only
knew Tilsetan, Taetan translated the conversation bebween
the doctor and the author,

{iii) The author was suspicious about the medicine vet
hee tock it. Why?
This was so because ............... .
{a) h;l-,mu not lave been able to survive ansther sleepless
might.
() he was desperate b complete his kora
(e} he wanted relief from the cold.
(e} he dial ot wamit Tsetan to worry about him and wanted
hinm bo continue his joarney.
Anz. (b} The author was saspicious but he still ook the medicine
because he wanted to compete his ko for which be had

wenmie Hheere.

{iv) Which of the following describes the author’s view
about the Medical College?®
{a) Scamtiby maintained
() Momnastery like
fic) Spiritual
i) Eve pleasing

Anz. (h) The author finds the Medical College at Darchen io be
like a monstery:

{v] Explain the phrase: "Like a log, not a dead man’.

{a) He slept peacefully
{lah He: Tt lifeless
) He dreamt about dying
() He felt disturbed in his sheep

Anz. (u) The phrase meant that he slept peacefully. Afier going o
the Tibetan doctor the auther som recovered. Unpalatable

as it seemed, the medicine led him b a gquick recovery.

Henee, the author had a healthy and sound sheep unlike
when he was ailing and restless.



Objective Questions
* Multiple Choice Questions

1. Why does the poet get surprised when he gets an
answer from the rain?

(a) Because he expected a reply from carth
(b} Becanse he did not expect rain to reply
() Because he wanted to be alone with his thoughts
() Becanse he was only dreaming
Ans. () The poet gets surprised when he gets an answer from the

rain, as it is inanimate and cannot speak. [n this poem, to the
poet's and reader’s amazement, the rain gives a reply which
has heen translated by the poet for the readers.

2. What answer does the rain give hack to the poet?
{a) That he should leave for home
(b} That he should wake up
{ic) That rain is a continuous process
() That this is not the Poem of Earth
Ans. (c) The rain answers the poet's question by telling him that it
is the poem of Earth and i involved in a continuing process
of going up and coming down.
3. How does the rain justify its claim T am the Poem
of Earth™?
{a) By explaining its relationship with carth
(s} by talking to the trees
(ch By staying quict
() By bringing a storm to the poet
Ans. (a) The rain calls itself the poem of the Earth because the
poem rendered by the poet has the task of bringing joy,
happiness, life to its readers. Similarly when the rain falls

down over Earth, a rhythm or music is created. That's why
thee rain calls itsell ‘the Poem of Earth’.

4. Why does the rain call itsell “impalpable™
(a) Because it cannob be felt by touching or seeing.
(b} Becanse it s afraid of the poet.
() Because it does not want to change its form.
() Becanse it is unsure of the future.

Ans. (1) lmpalpable means something that cannot be felt by
touching or seeing. When water takes the form of vapour, it
is ot visible to the human eve and nor can we feel its touch.
Henee, the rain calls itself impal pabile.

5. Why does the rain say “without me were seeds only,

latent, unborn™ ?

{a) Becanse rain shelters the seeds.
{h} Becanse rain protects the seeds.
fc) Because rain provides shadow to the seeds.

i) Becanse rain helps the seeds grow.

Ans. (d) The rain helps the seeds grow into plants and without it,

the seeds cannot grow into plants and stay hidden.

6. Choose the correct statement{s) for the poem “The

Voice of the Rain'.
1. Thie poem is absout rain, its eternal process and its
henedits.
I1. The rain is speaking through its own language, via
the [LLES
I11. Thee poem is a reflection of the poet's dream.
IV, The poem translates the message of earth through the
riin.
fa) 1 amd 11 are correct.
fhj 1, 11 anel 1V are correct.
fe) 111 and IV are carrect.
i) 1 and IV are comect.

Ans. (a) The poem is about the eternal process of rain and its

benefits. Through the words of the rain, the poet has tred to
bring out the importance af rain for Earth, for plants and for
people. As the poet is translating what the rin is speaking
through its own language (the sounds it makes when it fals),
the whole poem is about the rain talking to the poet.

. Why does the poet contrast music with rain?

fa) As rain is kved by the poet as much as music
(b} Becanse he was told by the trees o do it

) As rain makes rhythm with earth like music
i) Noane of the above

Ans. (c) The poct contrasts music and rain as when rin falls

down, it makes a rhythm with earth.

8. What is the similarity hetween the rain and music?

{a) Bath abandon the poet

{h} Both come back to their origin
) Both talk with the trees

i) Both are interesting to the poct

Ans. (b} The rain and music both come back to their origin

afterwards. Thus, they are similar.
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9. Identify the tone of the poem “The Voice of the

Rain'.
(a) Chaotic
(b) Conversational
(c) Sympathetic
(d) Idle

Ans. (b) The tone of the poem is conversational in nature. It helps
to maintain continnity of thoughts and ideas of the poet and
also bring clarity and vividuess in expression.

10. Find the figure of speech in the line ‘bottomless
sea’ from the poem, “The Voice of the Rain’.
(a) Personification (b) Alliteration
(c) Hyperhole (d) Metaphor

Ans. () ‘Bottomless sea’ is un example of hyperbole. The poet
describes the sea as bottomless which is an exaggerated
statement to bring out the desired effect.

11. Which of the following uses the same poetic device
as used in the lines ‘I wmn the poem of the Earth™
(a) Her tears were a river flowing down her cheeks.
(b) He felt like the flowers were waving hello,
(¢) They fought like cats and dogs.
(d) The wind howled in the night.

Ans. (d) In the line | am the Poem of Earth’ the poetic device

used in these lines is personification. The rain addresses
itself like a human being with the pronous ‘I

12. What does ‘Reck’d or unreck’d” mean?
(a) enrichment or no enrichiment
(b) cared for or not cared for
(¢) to purify or not
(d) to wash or not to wash

Ans. (b) The rain states that it does not care for anyone or their
opinions. She is only responsible for her work which she
does and leaves.

13. Select the suitable option for the given statements,
based on your reading of “The Voice of the Rain'.
(i) The poet finds the music created by the solt-falling

shower to be rin's voice.
(it} In translating the voice of the rain the poet is
describing the process and the purpose of rain.
(a) (i) is false but (i) is troe.
(b) Both (i) and (&) are true.
(c) (ii) is a fact but unrelated to (i).
(d) (3) is the cause for (ii).

Ans. (b) The poet translates the music created by the falling rain
to describe the process of formation of the rain and the
importance of rain for Earth.

14. The poet draws a parallel between rain and song to
(a) point out the artistic quality of rain
(b) state the creative expressions of man and God
(¢) bring out the similarities between pleasures gained from
them
(d) state the healing qualities of both rain und song

Ans. (d) The parallel between rain and song presents the healing
quadity of both rain and song. The rain beals the Earth just
like the song heals the hurt hearts and mind of man.

15. Which of the following is TRUE as per the poem?
() The process of rain is an everlasting and ever continnous

process.
(b) Rain’s purpase is to beantify and purify Earth.
() Rain replying to the poet adds a sense of mystery to the

poem
() All of the above
Ans. (d) All the statements are true as per the poem.

e Extract Based MCQs

1. Read the extract to attempt the questions that
follow.
“And who art thou? said 1 to the soft-falling shower,

Which, strange to tell, gave me an answer, as here
translated:

I am the Poem of Earth, said the voice of the rain,”

(1) What is the difference between the two ‘I in the
given lines?
(a) One is of the poet and the other is of the rain
(b) One is with love and other is with surprise
{c) One asks the question and the other answer
(d) Both (a) and 9¢)

Ans. (d) 1" in the first line is referred to as the poet asking a
question. ‘1" i the third line is the raindrop which answers
the: poets question.

(i) The poet specifically says that the answer was given
by “The Voice of the Rain’. The emphasis on voice of

rain adds a hintof ............ to the poem.
(a) mystery (b) thrill
() drama () doubt

Ans. (a) The reference to The Voice of Rain as emphasised in the
poem adds a sense of mystery to the poem as the reader is
left to wonder how can rain answer.

(iii) What do you understand by the phrase “strange to
tell?

{a) Unusualness of the answer for the poet

(b) Stupidness of the answer for the carth

() Ordinarimess of the unswer for the poct

(d) Commonness of the answer for the raindrops

Ans. (a) “Strange to tell’ means that it is an unusual and
extraordinary unswer given by the ruindrops to the poet who
asked who ‘it was.

(iv) What role does the poet play?

(a) To give voice of rain
(b) Translator

{c) Advocate of rain

(d) None of the above

Ans. (u) The poet assumes the role of the translator for the reader
as he translates what the rain tells him.

_____________________________________________________________________________________________________________________________|
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(v) Select the suitable option for the given statements,
based on vour reading of the extract.
1. The poet is imagining the rdin talking
2. The rain calls itself the poem of the carth as it
beautifies the world
(@) (1) is false but (2) is trse.
(b) Both (1) and (2) are true.
() (2) s a Gact but unrelated to (1)
(d) (1) is the cause for (2).

2. Read the extract given below and answer the
questions that follow.

“Eternal | rise impalpable out of the land and the
bottomless sea,

Upward to heaven, whence, vaguely form'd, altogether
changed, and yvet the same,

I descend to lave the droughts, atomies, dust-layvers
of the globe,
And all that in them without me were seeds only,
latent, unborn:™
(i) From where does the rain originate?

(a) Clouds and Land (b) Land snd sen
() Sky aned sen (d) Sky and Land

Ans. (b) The rain originates from the hnd and the bottomless
(deep sea) in the formm of water vapour.

(ii) What happens to the raindrops in the sky?

(a) They change their form
(L) They evaporate to beoosne air
() They disappear from carth
(d) Nothing

Ans. (a) In the sky, the mindrops form the rain. Their form has
changed but the essence has remained the same.

(iii) With what purpose does the rain descend from the

sky?
(a) To dextroy crop (b) To Hatter the poct
() To entertain carth (d) To give life to the planet

Ans. (d) The raindrops fall from the sky in order to give life to the
planet by removing the dry arcas and washing the

farmincestricken Lands.

(iv) What is “latent” and "anbom™
(a) Flowers () Plants
(c) Earth (d) Sceds

Ans. (d) The secds are dormant and unborm becanse of lack of
water which ix needed for them to germinate and form a new

plant.

(v) What gquality of rain is highlighted in the extract?
(a) Entortainer (b) Healer
(¢) Preserver (d) Caregiver

Ans. (b) The rain assumes the role of a healer for the Earth,
Before rain, the Earth is dranghted and covered in dust. As
rain falls, the dust and draught goes away and the Lland is
covered with greenery.

_____________________________________________________________________________________________________________________________|
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PART 1
Objective Questions

* Multiple Choice Questions

1. What did the poet believe about Hell and Heaven when he
was a child?
[a} That they were actual places
() That they were imaginary
(ch That they belong to the Church
[} That they were in America
Ans. (a) The poct believed that Hell and Heaven were actual
places, when be was child.

2. Antithesis is where two opposite words are used
together in a sentence in a poem. Where did the
poet use it?
fa) Infani’s face (hi Forgotten place
(ch Hell aned Heaven () Preached of love

Ans. {c) Hell and Heaven are opposites of each other and thus, is
used by the poet o bring out antithetical elements in his

poem.
3. When did the poet begin to feel that his childhood
wis lost?
{a) When he went on a trip
(b} When he saw the reality of life
fc) When b called his parents
(d) When he resd muore books

Ans. () The poet began to feel that his childlood was bost when
he foumal vait about the reality of life which shattered his

imigimation.

4. The repetition of the questions shows that the poet
() hielpless {h) excited
[ch stulshorn () desperate

Ans. {d) The poet is desperately looking for the childlike

imnovence and henve, asks a lot of questions in his attempt.

8. The poet's trust on adults breaks because ... .
() they lie io the poet
(b} they preach love and il to act oo love
() theey are sellsh
(d) they are luzy
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Ans. (b) The adulis seem who they are not because they ane
hypocrites who preach bove but Gil to ect on lve.

6. Select the word that suits the poet’s description of
adults.
fa) Cunning {15} Intelligent
) Smart {el) Pretentious
Ans. (d) The poet seems to describe adulis as pretentions” as they
are double faced about their ideas of love.

1. The literary device ‘refrain’ is used in the poem
‘Childhood in the line
fa) When did my childhood go?
(b} Hell and Heaven
fe) Coubd not be foumd in Ceagraphy
{d) That's all | know
Ans. (u) In poetry, a refrain is a wond, line or phrase that is
repeated within the lines or stanzas of the poem isell In the
o it has been employed in “When did my childhood
i
8. What did the poet sense about himself when he
redlised he could use his own mind the way he
wants?
{a)} He sensed that he i as intelligent as his friends
(1) He sensed his own mdivichiality and a separbe personality
() He sensed that he is very smart
() He sensed that he could use his mimd in creative work
Ans. (b) The poet sensed his own indivicduality and separie
identity as he realised that he could use his own mind the

way he wants.

9. Select the option that justifies “To use whichever

way | choose'.
fa) Tor formn perspective
(b} Tor ereate newer ideas
) Tow apuoestion
() Al af the alwwve

Ang. (d) All the options given sbove justifies “To use whichever
way | choose,”

10. Where could he see his childhood now?
I',.I:I I an infunt’s face
{la) Cinly in his memories
fc) Nowhere
() Oinby in the poem

Ans. (a) The poet could see his childhood mew in an mfant’s G
as it reminded hin of purity and inmocence.



11. Which of these is NOT ane of the options where
the poet thinks that his childhood has gone®
{a} The: time when he ceased o be brehe
{hj The time when he realised that hell and heaven could med

b famd i Ceographiy
{c) The time when he realised that adults were hypocrites
() Mone of the above
Ans. {a) The poet has understood the loss of his childbood as e
ceased b e eleven. Thas, it is not the e that he haxd
ceased bo be bwelve.

12. What is the tone of the poem?

{a} Inspiring (b} Challenging
() Hopehid () Nostalgic

Ans. {d) The poet uses a tone that is nestalgically remmembering
his chil dhoml.

13. What are the aspects of adulthood that are
discussed in the poem?

I. Inmdivichuality II. Bravery
1. Rationality IV, Hypoerisy
fa) Land 11 (b L, 10 ama 1V
Coh L0 amd 11 (cl) 1 amal 100
Ans. {d) The poet points out that sdulthood comes with rationality
and indhivicluality:

14. Select the suitable option for the given statements,
hased on vour reading of "Childhood.
(i} The poet states that the childlosd inmocence and the
Iumdm.-.ld- i loat as onne becomes an adult.
(i} The poet want the childlike innocence and happimess
o remain forever.
(a) {i} is troe bt (i) is false
() Bosths (i) anel (i) are troe.
(b it} iz a fact but uorelabed o (i)
() (i) i= the cause for (i)
Ans. () The poet believes that childhood innecence and
happiness is lost with adulthood. Ax one becomes an adult
one becomes o ratiomal individual as well as a hypocrite.

15. Markus Natten savs that his childhood has gone to
an ‘unremembered place’. Which option indicates
the significance of ‘unremembered place™
(a) Childbood is mot lost to the mtional warkl.

(1) Childhood is nosvhere visible in the hypoeritical word.
{ch The: loss of childhomsd is permanent.
(el Bosth, () amel ()

Ans. {c) By stating that childbood had gone o an onremembered

place’, the poet indicates that onee gone, childlood will
never retum. The loss of childbood is permanent.

» Extract Based MCQs

1. Bead the extract given below and answer the
guestions that follow.
“When did my childhood go?
Was it the day | ceased to be eleven,

Was it the time | realised that Hell and Heaven,
Could not be found in Geography,
And therefore could not Twe,
Was that the day!”
(i} Why is the age of eleven so important to the poet?

{a) Becanse he can now differentiate between et and Getion
{3} Bevanse he now know about his parents
) Becanse he can now get a new hike
() Becauss he can now get new gilts

Anz. (a) It iz becanse at the age of eleven, he can differentiate
between what is fact and what is fiction.

(i) What guality has the poet acquired as mentioned in

the extract?
fa) ldivichulity () Rationakity
i) Patienee {el} Imagination
Ans. (b} The poct has gained the quality of a rational person at
this stage.

(iii) What shatters the poet’s illusion about the world?

{2} When he is unable te find hell and heaven i geography
bk

(k) When his geography book is torn
() When he tums bvehe
(e} When he talks bo his teacher

Ans. (u) The illasion for the poet shatters when he is anable bo
find hell and heaven in his geography book.

(iv) What is the cause of the poet’s worry?
{a) Limss of purity and insocence
(b} Increasze in age
) Breaking of trast
() Losss of sy

Anz. (o) The canse of the poet's worry is that he has bost the parity
amel mmocence in his thoughts while gaining rational
thinking.

(v) Which literary device has the poet used in the

given lines?
{a) Refrain () Alliteration
e Anaphora (el ALl oo theser

Anz. (d} Refrain is a literary deviee in which a line or phrase is
repeated in every stanz In the stanza “When did nay
childhood go®. Alliteration is a literary device in which a
sonmal ab the beginning of a word is repeated in olosest
placed wonds, Herein the sound of kW is repeated in lell and

heaven. Anaphora is the repetition of a phrase at the
beginning of comsecutive lines. Herein “was it is repeated.

2. Read the extract to attempt the questions that
Followa,

“When did my childhood go?

Was it when I found my mind was really mine,
To use whichever way 1 choose,

Proslucing thoughts that were not those of other
people

But my own, and mine alone

Was that the day!™
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(i) Explain ‘my mind was really mine’.
{a) The poet was afraid of himself
(s} The: poet was completely in control of himself
() The poet felt strong yet mdecisive
[} The: poet felt conhmed by his environment
Ans. (h) The peet was completely in control of himsell and felt
that his ming belonged to him completel.
{ii) What is meant by: “producing thoughts that were
not those of other people’s™
{a) The poet gains confidence in individuality
(b The: poet gains resilience i bough times
i) 'rlmru[mul' takes om new challenges without a care in the
wo
() The: poet is still learing to express himsell
Ans. (a) This line points that the poet has finally gained
confidence in individuality and is able to express himsell
well.
(iii) Select the statements that justify why the poet is
eager to know the lost place of his childhood.
I. The poet cherishes childhood the maost.
11, The poet is cager to find peces of his childhood again.
11, The poet wants to tell his friends about his childbood.
IV, The poet wanls to find the insocence he lost.
fah All stabements are cormect
() 1amd D11 are correct
() Omly 11 is correct
(o 1, 10 and 1Y are correct.
Ans. (d) All statements justify the poet’s cagemess exwept
staternent three which is false aboat the poet’s intention.
{iv) Through the given lines, which characteristic of
childhood is highlighted?
(a) Elind belief (h lnnieence
fic} Lack of rationality {el) All of these
Ans. (1) Through the given lines, the poet states that in childhood
ane used to believe what parents or elders tobd them blindly.
But as he became an adalt this Bind belief o elders broke.
(v} What does the poet feel when he utters these lines?
{a) Anxiety {h) Dejection
() Regret fel) 1isduin
Ans. (b) The poet feels dejected at the loss of his childhood.
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Objective Questions
+ Multiple Choice Questions

1. Mr. Braun believes that Einstein does not believe
in the education system. Select the option that
explains it.

(a) Einstein does not believe in learing facts.

(b} Einstein is not interestesd in school.

(e} Einstein helieves that the education system i Gty

() Einstein feels that the school teaches annecessary things.

Ans. (a) Einstein's statement that he does not believe i kearning
facts makes Me Braun believe that Einctein does not belise

in the education system. For Mr. Braun, fects are central bo
bearning and education.
2. What was Albert’s theory of education?
(a) Learning all important facts
() Memorising
e} Writing everything
() Iedeas behind things

Ans. (d) Acconding to Emstein, edecation should focus on ideas
ancd not on facts. Facts can be looked up in books bat ideas
are required o be understood.

3. Select the option that lists the feelings Einstein
fostered about the schoal.
(i) Expensive {ii) Faulty
(iid) Torturous {iv) Hostile
(v} Dejected
(a) (i) ancl () (b G el (i)
(i) {ii) anel {iv) (el iv) sl )

Ans. (h) Einstein felt going to school te be brtarous as he did not

like the current education system which relied on facts.

4. Einstein's misery was ............ the atmosphere
around his lodgings.
la) submhied by
() alleviated by
{c) intensified by
() dominated by
Ans. (c) Emstein was already miserable due o his school. This

misery increased because of the place where he lved.
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5. The ‘slum violence’ referred to by Einstein included
{a) children howling
(s} chilcdren betng beaten by parents
) drnken Landlord
() All of the above
Ans. (b)Einstein refers to his kindlady beating her children as one

af the mstances of um violence he has encountered at his
lochgings.

B. “But at least vou have a room of vour own, which is
more than | can say,”

Through the given lines, Yuriis ......... Einstein.
fa) comforting () acbmomishing
) onfromting {el) heelping

Ans. (a) By stating that Einstein has a room of his own, Yori wants
him b umderstand ihat he is in a much better condition. Yuri
bl t0 share o rovan with uncivilised students,

1. Select the suitable option for the given statements,

hased on vour reading of Albert Einstein at School”.
(i) Yuird sounds bitter, almiost envious of Emstein,
(i) Yuri was Einstein's only fried in Munich.
fa) (i) is False bt (i) is true.
(o} Bt (1) aamel (i} are brue,
fc) (i) is a Fact but unrelated to (i),
) (i) is the canse for (i),

Ans. (a) 1t is troe that Yuri was Emstein's only friend in Munich.

8. “And these are the students.” With what feeling
idoves the speaker utter these words?
la) Exasperation () Disgnast
i) Shoc {el) Anmemance
Ans. (b} When Einstein gets to know aboat the killing of a boy

anel the reaction of the other boy he feels disgusted at the
state of students.

9. As per Einstein, what was good enough reason to
study something?
{a) IF the reader likes it
(s} IF it is a part of the curriculum
fe) IF the reader is forced bo stuy it
() IF the reader is able to justify his knowledge

Ans. (u) According to Einstein, one should stucly or read
smething only if one likes it, just like him whi reads
Ceenlogy, a subject that wasn't taneght in the school.



10. Classify (1) to (4) as Fact (F) or Opinion {03), based

on vour reading of Albert Einstein at School.”

L. Yuri really supported Einstein in his plan.

2. Yuri was reluctant to offer Einstein his help.

3. Yuri is Einstein's ouly friend in Mumich.

4. Einstein cared For Yiri anc this met him on his last

ey in Munich.

(a) Fal, 3, 4; Ou2
(b} 2, 3; On, 4
() Fal, 31062, 4

) Fad, 4 06, 2

Ans. (c)
1. Albert was ............ about his appointment with
the doctor.
(a) anmovesd () wsrriesd
{c) pansive (cl) thrilled

Ans. (h) Albert Einstein was nervous aboul meeting the doctor as
he did not know what he was going to say to the doctor

12. How did Albert plan to get into a college?
(a) By giving an entrance exam
() Thrvugh his father's reference
(c) By getting a reference from his history eacher
() By getting a reference from his mathematics teacher
Ans. (d) Einstein had planned on furthering his stodies at an
institute in Ltaly by getting a referral from his Mathematics

trwcher

13. M= Koch offered the reference willingly to

Einstein. Select the option that explains it.

) Mr. Koch also wanted Einstein to leave as he disturbed
the class.

{h) Mir. Koch felt that Einstein knew evervthing that he
el learn from school.

{c) Mr. Koch coukl see that Einstein was a special child amd
wanded to help him.

() Mir. Koch did not want the future of o child to get spoilt
becanse of the: school.

Ans. (h) Mr. Koch appreciated Einstein amd wrote a reference or

him because he believed that Einstein had leamed
everything he could at sehool. In fict, he Enew more than

what mathematics the school coukd tesch him.

14. What sort of a student Einstein was according to
Mr Braun?

(i} Imsincere (i) Relsellion

(i} Troublesmme fiv) Oflsesclient

(v} Norborious fvi) Tallative

(a (k. (id) amel {iii) () i (i) ame (i)
{eh i), (i) amel v) (e} (i), i) anel ()

Ans. {a) Acconding to the ieachers of the school, Einstein was an
insincere and a rebellious chilld. His presence was
troublesome to the class as teachers could not teach and
stindents could not bearn.

15. Select the suitable option for the given statements,
based on vour reading of Albert Einstein at School '

(i) Allsert Einstein hated the town as mich as be hated
i scluisol.

(i) Einstein’s misery was counsed by the dum violence
anel the constant insults he got from his teachers,

fa) (i) is Ralse bast (i) is tre.

(b} Both i) and (i} are e,

) (in) is w Fact but unrelated to (i),

) (i) is the canse for (i),

Ans. (b} Einstein's hatred for the town and the school comes from
the misery he sulfered because of the violence he had seen

amal the insults he had bome from his teachers.

¢ Extract Based MCQs

1. Read the extract given below and answer the
questions that follow.
"1 can't see any point in leaming dates. One can
always look them up in a book.”
Mr Braun was speechless for a few moments.
“You amaze me, Einstein,” he said at last. "Don't
vou realise that one can always look most things up

in hooks? That applies to all the facts vou learn at
school.”

“Yes, sin”
“Then | suppose vou don't see any point in learning

facts.”

“Frankly, sir, | don't,” said Albsert.

“Then you don't believe in education at all™
", ves, sir, | do. | don't think leaming facts is

education.”
(i) By stating that he does not believe in learning facts
heis .....cconvae his perspective.
{a) clarifying (1) meeggortiating
o) amiplifyimg {al) rectifying

Ans. {1} When Einstein tells his teacher that he does not believe
in learning fact, he is darifying why he does not sant to
lewrm Gaects Froam the book.

(i) Select the comect inference from the given options

on the hasis of the extract.

{a) Mr. Braun hated Einstein lor his lack of interest in history,

(k) M. Branm was irritabed with Einstein for his disinterest
in learning facts.

(o) Mr. Branm did mot want Einstein to stay in the schaool
alter this incident.

() Mir. Braun did not appreciate Einstein negating all of his
views,

Ans. (b} Mr. Braun disliked the Bt that Einsbein was nat at all
interested in learning dates or in general fets about
amything.
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(iii} Which of the following qualities can be associated
with Einstein on the basis of the given extract®
(a) During {b) Frank
() Homest {d} Sincerity

Ans. () The given extract shows that Einstein was an honest child
who answered his iritated teacher’s questions without any
hesitation or hint aof lie.

(iv) Select the option that correctly states the views of
Mr. Braum.
f{a) Education systems focus on what is taught in sehoals aned

villeges.

{h) Education system does not give any space o one's
apimioms.

(o) Education system is hased on learning feets.

{d) Education system is qualitative and does not need
students like Einstein to question it.

Ans. () From the given exdiruc, it can be gathered that M Braoun
believes that education should be based on learming ficts.
(v} Einstein savs that he does not helieve that
education is about learning facts,

Which of the following comrectly states Einstein's
perspective regarding education?
(a) Views behind events {hj Ideas that kead to ereation
() Opiions () All of these

Ans. {d) Einstein believed that education system shows focus on
ideas, views and perspectives behingd any event. 1t should
not feeus on leaming facts.

2. Read the extract to attempt the questions that

follow:
“At least vou live among civilised human beings,
even if they are all poor students,” said Allsert.
“They are not all civilised,” Yori replied. "Did vou
not hear that one of them was killed last week ina
duel?”
“And what happens to the one who killed him®™
“Mothing, of course. He is even proud of it. His
only worry is that the authorities have told him not
to fight any maore duels. He's upset about this
because he hasn't a single scar on his face to wear
for the rest of his life as a badge of honour.”™
“Ugh!” exclaimed Albert. “And these are the
students,”
“Well, vou'll be a student one day,” said Yuri.

(i) How is Einstein feeling in the given lines?

(a) Surprised (hj Annoyed
(c) Shaken {d) Disgusted

Ans. (d) Eimstein feels disgusted in the given lines at the savage
hehaviour of the students.

(i} Yuri is trving bo ..o Einstein in the given

limes.
(a) sharw hiis care for (b} calm and oomfort
() cheer up () help
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Ang. (b} In the given lines, Yari is trving to calm Einstein and
provide combort to him when he feels miseralile.
{iii) How did Yuri achieve his purpose?
fa) Yuri comparesd his situation with Einstein’s.
fla) Vuiri distracted him with a news from his locality.
) Yuri bold him about how he feels suffocated.
(o) Vouri boshd b abionit b hee wonaled have o better future.

Ans. (u) Yori had wanted to calm Einstein and for the same e
compared his own situation to that of Einstein.

{iv) What can be said about the boy who killed another
boy in the duel?
{a) Arrogant {b) Barharic
) Gutsy {el) Eguist

Ans. {b) The boy who had killed another boy can be called
barbaric us he was not af all ashamed of his act. He was even

peroid af it and was regrethal for having no scar from the
chiel.

(v) “Well, vou'll be a student one day,” said Yuri.

What effect does the above lines have on Einstein?
{a) Fills him with disgust
{h} lntensifies his misery
fe) Makes him dishelieve in the education system
{el) Bath fa and (h)

Ang. () Einstein is disgusted at the savage behavioar af the
students. The whale aspect of fucing such scenanio increases
his misery.



Objective Questions
¢ Multiple Choice Questions

1. What is the play "Mother's Day about?
fa It is about a family celebrating Mother's Dy
() 1t is absout @ amily's treatment of the mother
(ch 1t depicts the sick mother and her stroggles
(dy 1t depicts the status of ¥rs. Fitmgerald in her Ganily
Ans. (h) The play Mother’s Day” is about the Pearson fumily and
their treatment of the mother, Mre. Pearson.
2. Choose the statement{s) that isfare correct about the
play.
1. Mrs. Fitzgerald learnt the art of fortune telling in the
Euat.
I1. Mrs. Pearson was very happy with her fumily.
I Mrs. Fitzgerald looked aiding and has a high-pitched
Ve,
(@) Only 1 (B)Only 11 (e} Ouly 11 §d) 1 and 101
Ans. {u) 18 is brue that Mres. Filzgerald learmt the ar of forbune
telling in the East but she had a sinister hoking fee am o

deep voice. Mrs, Person was not very happy with her
family’s treatment of her.

3. “Besides I'm so fond of them even if they are so
thoughtless and selfish.”

In the given line, Mrs. Pearson is trving to

fa} Defend her Bmily members
(l) Defend her own disposition
(e} Blame her subservient personality
[d) Stabe that she won't be ablde by do amdthing
Ans. (h) By stating that she is fond of them, Mrs. Pearson is brving
to defend her pasition as a subservient mother and wife.
4. In what endeavour does Mrs. Fitzgerald help Mrs.
Pearson?
fa) Tor see fubure
() T ke heer Bamily treat her wedl
feh Tor run errands
(dy Mome of the above

Ans. (h) Mrs. Fitegerald helps Mrs, Pearson by making sure that
heer family bearns b treat her well by teaching them a lesson.
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5. How does Mrs. Fitzgerald plan to help Mrs. Pearson?
fa) By talking to Mrs. Pearson's family
(b} By listening to Mrs. Pearson's rants
fc) By swapping personalities with Mrs. Pearson
i) Both (a) and (k)
Ans. (c) Mrs. Fitzgerabd plans to help Mrs. Pearsan by swapping
persomalities with her and then teaching the family a lesson.,

6. Mrs. Pearson was ... about Mrs. Fitegerald's plan.

fa) excitedd (s} hesibant
) sure (e} emvionis

Ans. (b) Mrs. Pearson was hesitant about Mrs. Fitzgerakl's plan to
swap personalities.

1. Select the suitable option for the given statements,

based on vour reading of “Mother's Day.

(i) Mrs. Pearson is nol appreciative of the fact that
Mirs. Fitzgerald wants to teach her Eamily a lesson.

{ii) Mrs. Fitzgerald wants Mrs. Pearson to gel respect
from her family memlbsers,

fa) (i) is Falze bt (i) is true

flah Bath {5} and (i) are troe

) (i) is a Fact but unrelated to (i)

fed) i) is the canse for (i)

Ans. (a}

8. Select the suitable option for the given statements,
hased on vour reading of “Mother's Day.
(i) Doris is used to her mother doing evervthing for her.
{ii) Doris’s dominating attitude is a reflection of Mrs.
Pearson's submissive belaviour.

fa) (i) is False bt {ii) is tre
flah Bath {5} and (i) are troe
) (i) is @ Fact but unrelated to (i)
fed) i) is the canse for (i)

Angz. (d} Doris is dominating becanse her mother is subservient bo

heer and does every ittle thing for her.

9. “Cyril Pearson is a male version of Doris Pearson.”
Select the option that explains it.
fa) Thiey buath are similar in nabures armogant.
fla) They both do not treat their mother with respect.
fe) Theey bath want Mrs. Pearson to di their work.
() Al of the alove
Ans. (d) All the options explain the given statement.
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10. Cyril says, ‘that’s different’. What is he talking

about?
(a) Working day (b) Way of talking
(¢) Overall bebaviour () His bebaviour
Ans. () Cyril believes that his working day is different from his
mother's working day.

11. What was George's reaction when he saw his wife
drinking stout during the daytime?
(a) He did not like it
(b) He did not mind
(¢) He sccompanied her
(d) He ignored her
Ans. (a) George was furious and expressed that he did not like his
wife drinking stout during the day time as be saw ber doing
LLLN
12. Choose the correct statements about the play.
1. Cyril asks his mother to snap out of her new change.
1. Doris gets a red eye as she eries immensely.
1. George is wellerespected at the club he goes to.
IV. Mrs. Pearson was drinking coffee as she was smoking.
(a) 1 and 111 (b) 1 and 11
() 11 and 11 (d) 111 and IV
Ans. (b) Out of the above statements, only | and 11 are correct as
George is ridiculed by the club members in his absence and
Annie wasn t drinking coffee while smoking.
13. Classify (1) to (4) as Fact (F) or Opinion (O), based
on your reading of "Mother’s day.
1. Mrs. Pearson should not have told George what
people thought about him.
2. Mrs. Pearson, actually Mrs. Fitzgerald, went
overboard in insulting the Pearson Eamily.
3. Mrs. Fitzgerald's entry led to the climax of the play.
4. Mrs. Fitzgerald, actually Mrs. Pearson, should have
let her family alone for some more hours.
(a) Fol, 3, 4; 0.2
(b) ¥s2, 3; O-1, 4
(c) Fa2; 061, 3,4
(d) Fa3, 4 Ou1, 2
Ans. (0)
14. The family members are annoyed at Mrs. Pearson,
but commonly for 4 few reasons. Identify them.
. Mrs. Pearson made no tea for them.
1. Mrs. Pearson was busy talking to her friends on the

phone.

I Mrs. Pearson expected them to change their selfish
behavioars.

(a) 1 and 111 (b) 1 and 11

() 11 and 11 (d) Only 11

Ans. (u) The Pearson family members are mad ut Mrs. Pearson for
two common reasons. Firstly, she did not prepare any tea for
them and secondly, she expected them to respect her work
and change their selfish behaviours towards her.
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15. What message does the author of “Mother’s Day’
try to convey?
(a) To work hard for your mother
(b) To spend time with family
() To appreciate wives/ mothers for their work
(d) To respect evervone
Ans. (c)

e Extract Based MCQs

1. Read the extract given below and answer the
questions that follow.

“|As she is about to rise, Mrs. Fitzgerald reaches
out across the table and pulls her down.|

Mrs. Fitzgerald Let "em wait or look after
themselves for once. This is where your foot goes
down. Start now. [She lights a cigarette from the
one she has just finished.|

Mrs. Pearson [ Embarrassed] Mrs. Fitzgerald—I
know you mean well—in fact, I agree with yvou—
but | just can't—and it’s no use you trying to make
me. If 1 promise you I'd really have it out with

them, I know I wouldn't be able to keep my promise.
Mrs. Fitzgerald Then let me do it

Mrs. Pearson [Flustered] Oh no—thank you very
much, Mrs Fitzgerald—but that wouldn't do at all.
It couldn’t possibly be somebody else— they'd
resent it at once and wouldn't listen— and really |
couldn't blame them. | know | ought to do it—but
you see how it is? [She looks apologetically across
the table, smiling rather miserably.
Mrs. Fitzgerald [Coolly] You haven't got the idea.”
(i) What is the contrast in the personalities of the two

women?
(a) Polite vs Assertive
(b) Gentle vs Sensible
() Scared vs Bruve
(d) They have nothing to contrast

Ans. (1) The two women, Mrs, Pearson and Mrs. Fitzgerald
contrasts the former’s politencss and the latter’s
assertiveness. While Mrs. Pearson thinks about dropping
hints and being polite to explain to her family about some
things, Mrs. Fitzgerald believes in being assertive and
confrontational about it.

(ii) Which of the following explains “This is where your
foot goes down™?
(a) To physicully fix your foot down to the floor
(b) To restruint yoursell against a strong person
(¢) To adopt a firm policy when faced with opposition or
disubedience

() To give into what is expected

Ans. (c) The phrase “to put your foot down’ means to adopt a firm
policy when faced with opposition or disobedience. Herein,
it means to teach a lesson to the family about respecting her.



(iii) Who are the women talking about in the passage
above?
(a) About a neighbowring family
() Abomt Mrs. Fitegeralds's Ramily
(ch About a group of their fiends
() Alusak Mrs. Pearson's Family
Ans. (d) The women are talking about Mrs. Pearson's Gamily amd
hiw they would nt comply or even listen to Mrs. Pearson.
fiv) What does Mrs. Fitegerald mean by ‘let me do it™?
Select the option that explains it
(a) She wants to confront Mrs. Pearson's Banily
(b} She has an unusual solution to the problem
() It is vnelear that she wants to help
() She wanits o beach confrontational skills to Mrs. Pearson
Ans. (h) Mrs. Fitegerald certainly has an anusmal solution to the
profdem s when Mes. Pearson tries to clarify what her
neighbour had meant, Mrs. Fitegerald sayvs that M.
Pearson had mo idea.
(v} Why does Mrs. Fitzgerald's idea embarrass
Mrs. Pearson?
(a) Becanse she knows her family will disrespect her
() Becanse she knmas that it woulkl be aseless
(e} Becanse she does not want anything to change
() Becanse she hadn't expected such a solution
Ans. (b) Mrs. Pearson gets embarrassed at Mres. Fitegerald's
suggestion becanse she knows that it would mot help the
situation. In fact it would deterorate it making it useless.
2. Rewmd the extract to attempt the questions that
foalbow,

“Murs. Pearson | might. Who d'vou think?

Doris [Staring at her] Mum—uwhat's the matter
with vou?
Mrs. Pearson Don't be silly.
Daris [ Indignantly] If's not me that's being silly—
and 1 must say it's a bit much when 've been
working hard all day and vou can’t even bother to
get my tea ready. Did vou hear what 1 said about
iy vellow silk?
Mrs. Pearson No. Don't yvou like it now? | never
dicl.
Dawris [ Indignantly] OF course 1 like it. And I'm
going to wear it tonight. 5o | want it ironed.
Mrs. Pearson Want it ironed? What d'vou think
it's going to do—iron itself?”
(i} ldentify the tone in which Mrs. Pearson talks.

fa) Cool sl incigive
(13} Flattering and apalegetic
() Brave and strong
() Tanmting ancl angry

Ans. (a) The tone with which Mrs. Pearson (as Mrs, Fitzgerald in
her body) talks is cool and incisive.
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{ii) Why is Doris consistently reacting “indignantly
towards her mother Mrs. Pearson?

fa) The: mother is not listening to her
(o} The: motheer is angry at her as well

(£) Thee mother & acting sl
(o) Al af the ahove

Ans. () Doris is consistently reacting with anger towards her
mather, Yrs. Pearson as she is acting unusual and is not
complying to Doris.

(iii) Choose the words that deseribe Doris’s personality,

om the hasis of the passage.
1. Spoilt 1. Independent
L1 Bad tempered IV, Kind
{a) Land 11 {b) Dand 100 ) I and 1V {d) 11 and 111

Ang. () Doris vas a spoiled brat of a child, whoe expected her
mather to di evervthing for her She is bad tempered as well,
us she gots irritated very easily,

(iv) What does the passage reflect upon the relationship
between Doris and Mrs. Pearson?

{in) Diaris only talks toher mother io get her work done
{h) Diaris cherishes her mother and likes to spend time with her
(£} Diaris uses hier mother's dresses io look better
{d) Both i) and c)
Ans. (u) Doris is a selfish child, who only talks to her mother io get

her work done. She takes her mother for granted amd the
passage reflects that.

{v) Mrs. Pearson is ............ Doris for getting over
dependent on her.
(a) taunting () scolding ~ {c) hinting ~ {d) comical
Ans. (b) Mrs. Pearsom (actually Mrs. Fitzgeral(d) wants Doris and
other family membsers io treat Yirs. Pearson with respect. For
the same, she scolds and even berates everyone so that they
understand hiw they had taken Annie for granted.
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Objective Questions
* Multiple Choice Questions

1. Why is the chapter titled ‘Birth'?
(a) Because the doctor is specialist in childbirths.
(h) Because a lot of childbirths take place.
(c) Bevause it is about birth of a child.
() Becanse it talks about philosophy of life.
Ans. (c) The chapter i tithed "Birth' as it is about the significance
af the hirth of a child.
2. Joe refuses to enter the house. Why?
(a) Because he was superstitions.
() Becanse he dida’t want to disturh.
(c) Because he dida’t want to see the child.
() Becwuse he was anxious.

Ans. (d) Joe Morgan was feeling very anxious and thus, did not
enter the house,

3. Choose the option that lists the words used by the
author to describe Mrs. Morgan's mother.
I. Unintelligent
11 Greyshaired
1. A woman in carlyssevenlies
{a) | and 11 (b 10 and 111
{c) Land 111 {el) All of thess
Ans. (b) The author describes Mrs. Morgan's mother as a wise,
grevehaired woman in her early seventies.
4. Select the statement(s) that isfare correct on the
basis of vour reading of “Birth.
(i} Dr. Andrews did not really want to marry Chrigtine.
(i) Dr. Andrews was sure he wanted to spend his life
with Christine.
{a) Both (i) and {ii} are cormect
() Both (i) and (i) are incorrect
) (i) is correct but (i) is incorrect
(o) (i) is incorrect bt (i) is correct

Ans. () Dr. Andrews did want to live a life with his lover

Christine but was in the dilemma doe to the Filed marriage

of men wrowmd him.
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5. Choose the word(s) that suit the condition of the
new born baby.

I. Lifebess 1. Healthy
1. Underweight IV, Anemic
fa) Umby | {h) Cendy 1
) Omly 111 {ef) 111 and 1V

Ang. (u) The chikl was born lifebess and was deseribed by the

anithor in the same manner as it was born,

6. What dilemma did Dr. Andrew face?
fa) Whether the child could be saved or not.
{h) Whether the treatment would be successful.
i) Whether to attend to the child or the mather.
i) Whether to inform Joe or nol.

Ang. (c) The dilemma was that Dr. Andrew had to devide whether
to attend to the child or the mather.

1. The midwife had placed the child under the bed.
Select the option that explains it.
{a) She did not want to break the hopes of the Morgan Runily.
() She diln't believe that the doctor could save the child.
i) She hard not expected that the child will die.
i) She could not bear the sight of a dead child.
Ans. (b)

8. What did Andrew conclude from the whiteness of
the child?
fa) That he was dead.
i) That he suffered from a lack of oxygen.
fe) That he should be taken to hospital.
i) That Andrew coubdn’t save him.

Ang. (b} Andrew concluded that the child suffered from a lack of
oxygen from the whiteness.

9. Choose the method(s) that Andrew applied to save
the still bom baby.
1. He used a special method of respiration.

11. He called De. Edward Page.
11, He took the child to a hospital.

IV. He procesded to offer him his blood.

fa) Onby | () Chndy 11

) Omly 111 {el) 1 and 111

Ans. (a) Anrew proceeded to apply a special method of

respiration to save the child.
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10. Why did the doctor continue his efforts despite the

habwy not resuscitating?

{a) Fear of filure of his career

(b} Fear of dashing Morgan family's hopes
(e} Fear of reactions of the Morgan Family
() Fear of the socicty

Ans. (h) The anthor feared breaking the hopes and promises made
to the Morgan family amd =0 he continued his efforts.

11. Choose the statement(s) that apply to the chapter.

L. It took Andrew fortysfive minutes bo vield results,
1. Eventually, Amdrew gave up on the lifeless child.
I Andrew proceeded o change the course of
mid=wile's behaviour
{a) Only 1 () Ul 11
() Chaly 111 () Mome of thaese

Ans. (d) 1t took Andrew half an bour to vield the results, shich
ended in Andrew saving the life of the stilllborn. At mo point
does Andrew attempt to change the course of midswife's
hehavior:

12. What does the author refer to as a miracle™
(a) Life getting into the stillborm
(3} Morgan fumily weleoming a child
() Susan getting conscimsness
() Mome of the above

Ans. (a) The mirecle refers to the act of life getting into the
stillborn child of the Morgans.

13. Why did Andrew get oblivious to all the work he
had done in Blaenelly?

(a) Because he got all hopeless.

() Because he did something extraordinary that might.
() Bevause he was beaving Blaemelly.

() Because he got tired.

Ans. (b Andrew got ohlivious to all the work e had done in
Blaenelly becanse he did something truly extracrdinan: that
night.

14, 1o the end, D Andrew exclaims, “I've done
something: oh, God! 've done something real at
last.” Explain.

{a) He felt hapgry finishing the task that ook forever.

(b} He feli like he tuly sccomplished something.

(e} He felt anxious at the fme which was o follew his sctions.
() He feli zad at fnishing a task.

Ans. (b) He realised that he had truly saved a life that night,
fulfilling the parpose of his profession. For the first time
1. Anclres felt that he had done something “real’,
something worthwhile.

15. What can vou say about Dr. Andrew after reading
‘Birth'*

(a) He did not put all his efforis.

(3} He fulfilled his obligations well as o doctor.
() His skills were not enough.

() He was armgant.

Ans. (b Une can see that D Anddrew truly flfilled his
obligations well as a doctor after the reading of this chapter.

CLASS XI_ENGLISH REVISION_JOBIN DEVASIA

¢ Extract Based MCQs

1. Read the extract given below and answer the
qpuestions that follow,

"THOUGH it was nearly midnight when Andrew
reached Bryngower, he found Joe Morgan waiting
fior him, walking up and down with short steps
between the closed surgery and the entrance to the
house. At the sight of him the burly driller’s face
expressed relief. "Eh, Doctor, 'm glad to see vou. |
been back and forward here this last hour. The
missus wants ye—hefore tinee, too.”

Andrew, abruptly recalled from the contemplation
of his own affairs, told Morgan to wait. He went
into the house for his bag, then together they set
out for Number 12 Blaina Terrace. The night air
wus conl and deep with gquiet myvstery. Usually so
perceptive, Andrew now felt dull and listless. He
had no premonition that this night call would prove
unusual, still less that it would influence his whaole
future in Blaenelly.”
(i) Explain: "The missus wants ve—before time, toe.”

fa) The pregnamt lady went o labour before expected.
{h) The pregnant lady was aafully scared.
) The pregnant lady wanted assistance before laor as well.
() It & umelear from the passage.

Ans. (o) The pregnant lady, Mrs. Susan Morgan, demancded for
D Andrew to be present even before her Llabour began for

marre sappirt aned asked her lashand, joe Morgan to fetch
him before time.

(i) What does the expression “walking up and down with

short steps™ signify about Joe Morgan's feelings?
fa) He was stressed out
{h} He was mawre calm
) He was impaticnt
() He was angry

Anz. (u) The expression of walking up and down with short steps
points that Joe SMongan was stressed out and anxious as he
waibesd for e Andres to appear

(iii) Despite feeling dull, De. Andrew decides to take
the case. What does this highlight alsout him?
fa) He is dedicated () He is unelerwhelmed
) He is patient (e} He is boring

Ans. (u) Shawwving his mativation towards his cise, he takes the

case despite feeling dull. This shows that he is truly
dedicated towards his work.

{iv) Identify the literary device used in the last line of
the passage.
{a) Metaphor (1) Persomification
) Foreshadowing {el) Simibe

Ans. (o) Foreshadowing is a literany device which predicts the
event o ocour in the story ahead. In the last line, the writer
is Focusing on the impartanee this case would bring toe lim
anel Foreshadows this in the beginning of the chapter.
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(v} The contemplation referred to in the extract refers (iv) What is the meaning of hach’ in this context?

to ) i, ;
(a) Thoughts about his career l:.] H.IH “T:I Child
(b) Thoughts shout a medical cuse () Dear {d) Love
() Thoughts about his bover, Christine Ans. (c) Bach is a Welsh term for Dear, which is said after the
m::;-:h‘"“:h']“‘:?::ﬂ“h . - narne of a person bo show care.
Ir. Andrews thin ut the kesson worries about his
bover, Christine. (v) “Don't fret, mother, I'll not run away.” Why did
2. Read the extract given below and answer the Andrew say this?
questions that follow. (a) Tor reassure Mrs. Morgan's mother
Inside, a narmow stair led up to a small bedroom, (s} Ter Fulfill hiis obligations
clean but poorly furnished and lit only by an oil L T —

lamp. Here Mrs Morgan s mother, a tall,

grev-haired woman of nearly seventy and the stout, (d) T hanefle a eritical situation well
elderly midwife waited heside the patient, watching Ans. (a) Andrew said to reassure Mrs. Morgan's mother.

Andrew’s expression as he moved about the romm.

“Let me make vou a cup of tea, Doctor, bach,” said
the former quickly, after a few moments. Andrew
smiled faintly. He saw that the old woman, wise in
experience, realised there must be a period of
waiting that, she was afraid he would leave the
case, saving he would return later.”

“Don't fret, mother, Ul not ron away”™
(i} Choose the statementis) that elaborate the
description of the room.
I. The room is very bright and welcoming.
1. The rown has dim lighting ad a Bint feeling.
1L The roon iz highly vgienie.
IV, The rownn is huge with poor furmiture in il

{a) | and 11 (b 1 aned 111
foh Omly 11 ) 100 and 1V

Ans. () The mom can be described as one with dio lighting amd
i fwint feeling.

(i} Why does Dr. Andrew focus on the room more than
the pregnant Mrs, Susan Morgan?

{a) Because he is quickly assured that she does not need
attention right away.
(b} Becanse he does not want o interrupt the midwife.

() Becanse the room is grand and beantiful o captivate him.
{cl) Becouse he is bored and finds the details in the room
more inberesting.

Ans. (a) e Andrew figures as soon as he read the expressions of
the o women that Yrs. Susam Morgan does not need his

assistance immediately and thus, his foous shifts to other
things in the mom.

(iii} What are the old woman's fears in the passage?
(a} That her danghier woulkl not be healihy.
(1) That her grandehild would die.
{ch That the docter was not interested in the case,
() That the doctor would leave.

Ans. {d) The doctor's imwvement points that he might just leave
the cuse and go and this scares the old woman who looks at
him, demansling assurance.
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PART |

6. Cvanide leaked into ............ Mersey Canal, and

............ nine mile stretch of ............ canal was
. . . affected
Objective Questions ) the, e, i
(c) the ,a, the (d)a,u,m—
o Multiple Choice Questions As. () the ., the
S ) 1. The word deafness is used to describe ............
Dlrec?lons (Q. Nos. 1-15) (:IDO()S(' the correct determiners dentroes o bt S thows & maek comumonl
to fillin the blanks in the given sentences. used where there is ........... total inability to hear.
1. The train doesn't stop at ............ station along the (a) some , much (b) the , some
way, but it stops at ............ of the main ones. () a, many (d) any , u
(a) all, cither (b) every , most Ans. (d) any 0
(¢) each , much (d) both , some ey ) g ORI
Ans. (b) every , most 8. A: Which of these wallpaper designs would you like

2. Unfortunately, our local library had ............ books

in the living room?

- SN ; B s N look horrible. Why can't we just
on the subject, so I'm going to the city library paint the walls?
tomorrow hoping to find ........... more. (a) All, None () Neither , Both
(a) much , a little (b) a little , a Jot k) None, Same (d) Every , Each
(c) a few , much (d) few , some Ans. (b) Neither , Both
Ans. (d) few ,
" “m . 9. Diamonds have ............ uses. In addition to the
3. Ifthereis .......... food in the world ﬁ’_’ obvious use in jewellery, they have ............ number
everyone, :vhy do 50 ............ people die of of industrial applications.
sturvation! (o) moch , any () tmany , a
(a) litthe , much (b) eoough , many fc) plenty of , the (d) some , each
(¢) much , few (d) any , a lot of Ans. (b) many , a
Ans. (b) enough , many ;
) _ . , . 10 il albatross, ............ largest and most majestic
4. Thereis ............ information available on recycling, skvbird. has oo wing span of over nine feet.
but unfortunately, ............ of it is known by ordinary ) ms, the, e (b) The , a, the
people. () The , the ,a A n
(l) lkl‘ (l‘. liltlc m k) -n,“. du_ a
(b) plenty of , much R
o sevenl by 11, The teacher said that we could write on .........sides of
(d) much , little the paper, but to start a new page for .........question.
Ans. (a)a lot of, lttle {a) either iyl ) :‘l'"'-"*'
5. If L had .......... fabric left, I could make a dress, but € e )l tome
s Ans. (a) cither , every
I think I've only got ............ to make a skirt.
(a) plenty , 4 few 12, The wildlife of............ region is under threat and
) bwmore mah 00 s rare animal species may become extinet.
(c)  number of , some () each , others (b) sather , both
(d) u litthe mare , enough (c) every , either (d) the whale , some
Ans. (d) a little more , enough Ans. (d) the whole , some

_____________________________________________________________________________________________________________________________|
CLASS XI_ENGLISH REVISION_JOBIN DEVASIA 25



13. After ............ vears passed, | decided to have an
operation to have ........... wrinkles taken away from
around my eves.

() several | all (b)) mamy |, & good many

{c) the whaole | both {cl) same , mmany
Ans. ﬂ::lrrurrr.:ppmﬂnun}'
14, Although ............ in the group knew that _...........

hiacl ever tried to climb the mountain by this path
before, they all seemed very confident.

(a} someone , mwhers (b} no ane | anvwhere

(o) evervane , no one {cl) anyume | snmehody

Ans. {c) everyone |, no one

18. ........... of the soldiers was given two complete
uniforms, ............ of which they were expected to
keep spotlessly clean.
(a) Every , sither {b) Each , bath
() Some , all () The whale , many

Ans. {b) Each , both

* Gap filling

Directions ((). Nos. 16-20) Choose the correct option to
fill ins the blanks in the given passage.

Cmce, there was a very rich man, He was neither
handsome nor clever but he worked hard and saved

e 1B)...... momey, There was a beautiful Ludy whio lived
just two doors away From his house. She was a widow with
w1 Tevecc children. Every morning, the rich man would
steal a few glances at the widow when she came out to do
hier chores in the garden. One evening, the man decided
to pay her a visit, He brooght with him .....(18)......
presents, one for each child. .. (19)...... the children liked
him and so every time he visited her, he brought presents

Directions ((). Nos. 21-25) Choose the correct option to
fill in the Blanks in the given passage.

Pamnpore, a small town on the hanks of the river [helom,

mear Srinagar, is the main centre of ......(21)...... saffron
cultivation in India. The best saffron comes frvm Spain,
which is the world's largest producer. Saffron, the ......(22)
woeeee EXpENSive spice in the world, is known as “kesar” in
e Z8).o. parts of India. 1t adds a golden colour to food

and gives it ......

(24)...... unigque favour. Moreover, ......(253)

weeee Saffrom goes a long way = for example, hall a tesspoon
is sufficient to favour a litre of kheer.

21. (a) most {b) much
fc) Tt of {d) whale
Ans. (a) most
22. (a) very () s
) maost (] Jot
Ans. (c) most
23. (a) many k) several
fr) every {d) each
Ans. (b} several
24, () a (s} am
fe) the el Mo ariche
Ans. {a) a
25. (a) few {b) a little
fc) small {cl) epuite
Ans. (b) a litthe
¢ Transformation of Sentences

Directions (). Nos. 26-40) Transform the given sentences

without changing their meaning,

fwr the children. This went on for ......(20)...... months.

16. (a) more ibj a It af
() mmch {cl) o whale hd

Ans. (b alot of

17, (a) Nittle b} a few
fch small icl) few

Ans. (d) few

18. (2) much {b) many
{c) lots of {d) whole

Ans. (b) many

19. (a) Al ih) Every
{c) Each {d) Either

Ans. {a) Al

20. (a) qpuite () iy
(b several ) few

Ans. {c) several

26. How gorgeous is the sunset!
fa) The sunset is gorgeos.
{lah The: sunset is not just gorgeons,
fe) The sunset is very gorgeous.,
{d) The sunset is most gorgeous.
Ans. (¢} The sunset is very gorgeous,

27. No other metal is as expensive as gold.
fa) Mo other metal except gokl is expensiae.
(hj el is expensive of all the metals.
fe) 1sn't gald the most expensive of all metals,
{d) Cendd is the most expensive of all metals.
Ans. (d) Cold is the most expensive of all metals.

28. That chocolate is not as sweet as this one.
fa) The chocolates vary in their sweetness.
{hap This chocalate is sweeter than that chooolate.
fe) This chocalate is mist sweeter than that chocolate.
{) This chocalate is sweeter than that one.
Ans. (d) This chocolate is sweeter than that one.
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29. This tea is too hot for me.
(a) This tea is 5o hot that | cammet take it.
(k) This tea is very bt for me.
() This tea is hot for me.
(lh This tes is hot that 1 cannot take it
Ans. (o) This tea is so hot that | canaet take it

30. The oranges are too cheap to be good.

(a) The oranges are cheap aned goad.

(k) The oranges are cheap as well as good.

() The oranges are very cheap gomld.

() The oranges are s cheap that they cannot be good.
Ans. (d) The vranges are so cheap that they canmot be good.
31. Mary had hardly said a word since the party

began.

fa) Mary had not spoken much after the party began.

() In the beginning, Mary did not speak much.

() Mary did not speak anything in the party.

[} The: party started and Mary did not speak much.
Ans. {a) Mary had not spoken much after the party began.

32. Rajdhani Express is the fastest train.
(Positive Sentence)
{a) There is me other train as st as Rajdhand Express.
() Mo other truin is as Fast as Rajdhani Express.
(ch Both (a) and (1)
() Mome of the above
Ans. {e) Bath s) and (1)

33. Buy one shirt and get one free.
(a) I you by one shirt, you get another shirt free.
(k) Iy by ome shirt, you get one free.
(e A shirt free on purchase of a shirt.
() By ome shirt to get one free.
Ans. (b)) IF you bay one shirt, you get one free.

34. Samay writes more neatly than any other boy in the
class.
fa) Mo other oy of Samay’s class writes as neatly as he does.
(k) Samay writes neathy than all his clasmates.
(e} Samay’s writing is very neat.
() Samay’s writing is neater than all the boys in his class.
Ans. (o) Yo other boy of Samay's class writes as neatly as he does.

35. The students were not able to solve the problem. It
was too difficult for them.
fa) It was too difficult to sobee the problem.
(i) Tor the: students it was too difficult to solve the problem.
) The problem for the student was too difficalt to solbve,
) The: problem was too difficult for the students bo solve.
Ans. {(d}) The problem was too difficult for the shudents o solve.

36. He must work hard to make up for the lost time.
fa) He should make ups the lost of time working hard.
{h) He worked hard amd up for the lost time.
) Working hand he cam make up the: bost time,
) He has to make ugs the lost time working hand.

Ans. (b} He worked hard amd made up for the last time.

37. How childish are vour talks!
fa) Your talks are childish.
{h) You should not talk childish.
k:l Your kalks are most childish.
) Your talks are very childish.
Ans. {d) Your talks are very childish.
38. She is as happy as her sister.
fa) She is not happier than her sister.
(k) She is happicr than her sister.
fr) Her sister and she are not happy.
fl) Her sister is as happy as she.
Anz. o) She is not happier than her sister.

39. She staved at her aunt’s everyday during the holidays.

{a) She stayed at her aunt’s few times during the holidays.

() She stayed at her aunt’s plenty of times during the holidays.

(v} During the holidays, she stayed at her sunt’s most of the
L.
{dd} During the holidays, she stayed at her aunt’s all the time.
Ans. () During the holidays, she stayed at her aont’s all of the

40. Mast of the Bottle is filled with gel.
fa) There is enough gel in the Battle,
fl} There is littbe gel in the Bobtle
te) There is much gel in the Bottle,
) There is some gel in the Bottle.
Ansg. (m) There is enough gel in the Bottle,
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PART 1

Objective Questions
¢ Multiple Choice Questions

Directions ((). Nos. 1-135) Choose the correct option to
fill in the blanks in the given sentence.

1. In 1619, the first African slaves ............ in Virginia,
USA and by 1790, their numbers ........... nearly
700,000,

(a) were arriving / have been reaching
(b) arvived / had reached
(c) have arrived / were reaching
(d) were going to arrive / reach
Ans. (b) arrived / had reached

2 Weiiu a lovely view of the Bosphorus and the
bridges over it while the plane ............ over
Istanbul.

(a) are getting / flies
(¢) got / was flying
Ans. (c) got / was flying

3. When they ........... in Sydney Harbour, they ............
nonstop for three months.
(a) unchor / will have been siling
(b) were anchoring / sailed
(¢) have anchored / were sailing
(d) are anchoring / have been sailing
Ans, (a) anchor / will have been sailing

4. According to the new schedule the whole team has
accepted, we ..., every Monday and
Wednesday next term, but I'm sure we ...........
back to our normal routine of once & week before
long.

(a) bl trained / revert

(b) train / have reverted

(¢) are training / reverted

(d) are going to train / will revert
Ans. (d) are going to train / will revert

(b) had got /s flying
(d) get / has flown

5. The prospector ran into town in excitement
because, at last, he ............ some gold at the site
which he ........... for months.

(a) was finding / was panning

(b) will find / is going to pan

(c) will have found / has panned

{d) had found / had been panning
Ans. (d) had found / had been panning

6. 1 expect you ........... bored with working at the Post
Office by this time next year and ............ for a more
interesting job.

(a) have become / will have looked
(b) will have become / will be looking
() had found / had been panning
(d) found / will have panned

Ans. (b) will have become / will be looking

1. Listen! The coach ............ the strengths of our
opponents because our team ........... against them
before.

(a) has expliined / weren't playing

(b) explains / won't play

(e) is explaining / hasn't played

() will explain / hadn't been pheying
Ans. (c) is explaining / hasu't played

B. Whenl....... the alterations to the company
accounts, | was left in no doubt that the accountant
wessennss MONEY from the firm,

(a) suw / had been stealing

(b) am seeing / has stolen

(¢) was secing / was stealing

(d) have seen / will have stolen
Ans. (n) saw / had been stealing

9. According to the doctor, this time next week, |
ersnnennes ATOUN as normal and the cut on my foot
wrisnasnics COMpletely,

(a) am walking / healed
(b) will be walking / will have healed
(¢) walked / was healing
(d) have been walking / heals
Ans. (b) will be walking / will have healed
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10. Shadow puppets ............ in China and ............ as far
as Turkey and Greece today.
(a) will origimate f have been spreading
(lap are originating / will be spreading
() originate § had spread
(d originated / have spread
Ans. {d) originated § have spread

1. Ower recent vears, many skilled craftsmen and
WOIEN ............ their jobs in the pottery trade in the
UK, but gradually English porcelain ............ its

reputation.
{a) will have lost fwill regain

(lah haud been losing [ has regained
() are bosing / regained
(i have bost f is regaining

Ans. {d) have lost [ is reguining

12, After she ............ to turn up for our appointment for
the third time, 1 ........... to meet her again.
(a) iz Giling f am refsing
(1) b Faibed / hadd refused
() was failing f will refuse
(d) had failed / refiased
Ans. {d) had failed f refused

13. Since I took part in my first dehating match, 1
wvesnsnssees i mEmber of the debating club, which 1
wvnsssnsees 0SE Weekends.

R R | W———
(1o} have been [ attend
() will be f was attending
(dp am [ had been attending
Ans. {b:l have been £ attend

14. By the first half of the 19th century, potato ............
the staple food in the Ireland. [n 15854, a disease
corseenssesy Whikch resulted in widespread starvation.
(a) waus becoming [/ has struck
(lap will hecome f was going o strike
() had become f struck
(dp was groing to become [ strikes

Ans. {c) had becoame [ struck

158. The origins of domestic poultry ............ uncertain,
but experts believe that some breeds are descended
from the Indian jungle-fowl, which still ........... in
India today.

() had been / will have existed
() were f had been existing
() are f exists
(dp have boen [ existed

Ans. c) are [ exists

« Gap Filling

Directions (). Nos. 16-20) Choose the correct option to
fill in the blanks in the given passage.

The first half of the 20th century was dominated by the
twi World Wars. The wars resulted in unprecedented
mumbers of casualties. Eight and a half million people are
believed ....... (16)....... fighting in the First World War of
1914-1915. During the Second World War as many as 60
million ......{(17 }....... in Asia and the Pacific. From all the
total number of casuwalties, half .......(18 )......... civilians.
The scale of .......(19)....... was largely due to the
dlestructive power of weaponry. With the use of atomic
bomb at the end of the Second World War, this reached
too terrifving a peak that the major powers . (20) ...
to prevent international wars,

16. ia) that they died (1) harviing dlied
i) b have died (e} ehie]
Ans. i) to have died
17, () killed {hs) killing
{c) having been kilked {d) were killed
Ans. {d) were killed
18. i) were {15} had been
) are (el is believed to be
Ans. {a) were
19. {a) kills () killing
fic) eillesd (e il
Ans. (b) killing
20. ia) have tried (1) will have been trving
i) tried (el will try
Ans. {c) tried

Directions ((). Nos. 21-25) Choose the correct option to
fill in the blanks in the given passage.
Turkey's annual information technology fir, CEBIT
Bilisim Eurasia, this vear aims to attract a diverse coowd
into a society debate, especially .......(21)....... the use of
Internet technologies in government. CEBIT Bilisim
Eurasis ....... (23)....... to host visitors from over 70
countries as well as members of the press from nearly 20
countries. Under the theme of "Competitive Edge’, Bilisim
Sumamit 2007 and Forum Bilisim .. (23) ... how to
improve the competitive power of countries, organisations
and individuals by .....(24) ......... ICT technologies.
CEBIT Bilisim Eurasia .......(25)......... this vear at the
TUYAP Bevlikdiiz Fair.
2. {a) being concerned
fc) having concerned
Ang. (i} concerning

() eomoermed

(o]} somcerning

CLASS XI_ENGLISH REVISION_JOBIN DEVASIA

29



22. (a) expects (b is expected
(e} will he expeched {el) hinall exprected
Ans. (o) expecis
23. (a) discussed {h) will be discussing
o will diserss (e} has discussed
Ans. {c) will diseuss
24, () having used sjusedd
() using {luse
Ans. {c) using
25. (a) has staged (b had been staged
() was staged {cl) will be stagedd
Ans. {d) will be staged

¢ Transformation of Sentences

Directions ((). Nos. 26-40) Change the tense of the
following sentences as directed without changing their
meeaning.
26. Change into Simple Present Tense.
Anand was breathing oxygen from the cyvlinder
(a} Anand breathe oxygen from the ovlinder.
(b} Anamd breathes oxygen from the cylinder.
(e} Anamd is breathing oxygen from the cylinder.
() Anand took a breath of oxygen from the cylinder.
Ans. (k) Anand breathes osygen from the oylinder.

27. Change into Simple Past Tense.
But I have taken my revenge at last.
(a} Hut | hazl taken my revenge at last.
(i} Hut | taken my revenge at kst
(e} But | took my revenge at last.
{(dy But | have my revenge at ki,
Ans. {c] But | took my revenge at last.

28. Change into Future Perfect Continuous Tense.

I had been working for Anil.

(a} I will have worked for Andl.

() 1 will work for Anil.

() 1 will be working for Andl.

() 1 will have been working for Andl.
Ans. (d) | will have been working for Andl.

29. Change into Past Continuous Tense.

Dingko Singh had inspired many voungsters in

Manipur

{a} Dingko Singh did inspiring many ymgsters in SManipar.

(b Dingko Singh had been inspiring many youngsters in
Sanipur.

{c) Dingko Singh was being inspired mamy yoamagsters in
Sanipur.

() Dinghko Singh was inspiring many youngsiers in Manipuar.

Ans. (o) [ingho Singh was inspiring many youngsters in Manipur.
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0. Change into Simple Future Tense.
What are we doing?
fa) What shall we be daing?
{1} What shall we have been daing?
) What shall we do?
() What shall be done?
Ans. {c) What shall we do?

3. Change into Present Perfect Tense.
She had an eager interest in athletics.
{a) She had have an eager interest in athletics.
{l) 5he had hadd an eager interest in athletics.
el She has an eager interest in athletics.
() She has had an cager interest in athletios.
Anz. ) She has an eager interest in athletios.

32. Change into Past Perfect Tense.
The chairs were being arranged.
fa) The chairs had arranged.
(i} The chairs had been ammungesl.
el The chairs were amanged.
() The: chairs had had arranged.
Ans. () The chairs had been amungesl.
33. Change into Simple Future Tense.
He was kidnapped by an extremist militiz.
fa) He will be kidnapgeed by an extremist militia.
{l} He will have been kidnapped by an estremist militio.
) He will be kidnapging by an estremist militia.
) He will Eidnagped by anoextremist militia
Anz. {m) He will be kidnapped by an extremist militia.

M. Change into Present Continuous Tense.

Will vou train vour child to be a boxer as well?

{a) Are you training your child to be a boser as well?

(k) Were you training your child to be a bover as well?

(o) Wil you hanse been training your clild o be aboser as veell ?
{dd) Are you being trained to be a boser as well?

Anz. {m) Are you btraining your child b be a boser as well?
5. Change into Future Perfect Tense.

I had a cup of coffee in the morning.
fa) 1 will have had a cup of coffee in the moming.
() | will have a cup af coffee in the morming.
) 1| shall be having a cup of affee in the morming.
) 1 will had a cup of caffee in the morning.

Ans. () 1 will have had a cug of coffee in the moming.

36. Change into Past Perfect Continuous Tense.

I shall b telling vou three stories.

fa) 1 am telling you three stories.

{1} 1 had been telling you three stories.

el 1 was telling vou three sbories.

() | was being told to tell you three stories,
Anz. (b) 1 had been telling you three stories.
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37. Change into Future Perfect Continuous Tense. 39. Change into Present Continuous Tense.

I hadd been working for Anil. Manolin had been forced by his parents.
(ah 1 will have been worked For Anil, fa) Mamolin has been forced by his parents.
() 1 will be working for Andl. (b} Mamalin is being loroed by his parents.
(ch 1 shall had been working for Anil. fc) Mamaolin is forced by his parents.
(dh | will have been working for Anil. {d) Mamalin was forced by his parents,
Ans. {d) | will have been working lor Anil. Anz. (b} Manolin is being forced by his parents.
38. Change into Simple Future Tense. 40. Change into Past Continuous Tense.
Every Fortnight a flower blooms on it. D yvou remember vour first arithmetic lesson?
{a} Every Fortnight a lower will loom on it fa) Were you remembering vour first arithmetic lesson?
(b} Every Fortnight a Aower will be blooming on it (b [¥d vou remember your first arithmetic lessan?
(e Every Fortnight a lower will have hloomed on it fc) Hael you remembered your first arithmetic lesson?
() Every Fortnight a lower will have hloomed on it {d) Are you remembering your first arithmetic lesson?
Ans. (o) Every Forinight a lower will bleom on it Anz. (o) Were yvou rememberning your first arithmetic lesson?

_____________________________________________________________________________________________________________________________|
CLASS XI_ENGLISH REVISION_JOBIN DEVASIA 31



Objective Questions
¢ Multiple Choice Questions

Directions ((). Nos. 1-23) The questions given below
consists of cortain phrases. Rearrange these phrases to
form a meaningful sentence.

1. A 1wanted to tell her
B. not to talk to him
€. not listen to me
. Duit she would
fa) ABCD () ABDAC

Ans. {b) ABDXC

2. A. The managing director
B. in listening to her
€. was not interested
D. explain about why profits were lessening
{a) ABCD  (W)ABDC () ACBD  (d) BCDA
Ans. () ACB-D

3. A for thousands of vears
B. Eamnouis symbols of ancient civilisations
. Monuments have been created

. and they are often e most duralle and
() CADB (W) ABCD  {¢) BADC  (d) DCBA
Ans. {a) CADS

4. A ivone of the most widely used indicators
B. of ecosvstems and their biodiversity
. for assessing the comdition
. The conservation status of plants and animals
{a) DACE (L) DCBA  (¢) BCAD () ABCD
Ans. () DACE

() ADBC () BCAD

5 A phistos which were submitted
B. in the fire last night
C. for the exhibition
D. have been tutally barmt
fa) ADCE (i) BACD
Ans. ic) ACDR

() ACDB  {d) CADR

B. A supported by soft term loans
B. to supply the raw material worth T 5 lakh
C. the dealer has agreed
D, with a very low rate of interest
{a) CBAD (L) DBAC () ADCB
Ans. {a) CBAD

1. Mrs Dalal had a soft spot for Boori Ma,
A. occasionally she gave the old woman
B. flavor her stew
. some ginger paste
. with which to
fa) ABCD  (ls) DCAB
Ans. {d) ACDB

{d) BACD

{t) BCAD () ACDB
8. You're abwiously wrong,

A, all by vourselfvou needn’t imagine that

B. _'.'llillllll have to walk to the nearest gurage

C. and because of such foresight

D, 1 will keep vou company

{a) DCAB (L) CBAD  (ABCD  {d) DCBA

Ans. (b) CBAD
9. A the only creature

B. laughter

C. blessed with the power of

[} mam is

{a) BACD () DACE (g ACBD  (d) DCBA
Ans. (b) DACE

10. A by keeping

B. oblige me

.y

0. to yourself

E. suspicion

{a) CBAED () CEDBA  (¢) BACED  {d) BACDE
Ans. ¢) BACED

11. A do with the

B. time that is given to us
C. All we have to
0. decide is what to

fa) CABD () BACD
fe) CDAB {d) DABC
Ans. £) CDAB
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12, We are
A, rounded with a !ll.'l'l!l
B. are made on, and
. such stull as dreams
. wur little life is
fa) CEDA () CADB
Ans. {a) CRDA
13. A when meat
B. the food poisoning oocurmed
. added in the food preparations
. ol low quality was
(a) CBAD (s} BCDA
Ans. {d) BAIMC

{e) ACBD

(L) ADBC  (d) BADC

14, A She saw her opportunity
B. to make wmmends
. when he came to ber home
. o borrow some sugar
a) BCDA (b} BCAD
Ans. {d) ABCD
15. The statement
P therebore vou must listen carefully
). what the speaker has said
R. in order to understand
5. will be made just onee
(a) SRPQ () SPOR
Ans. {c) SPR)
16. Rewding books
E is a habit
0 but also enlarges the mimd
K. because it not 1l||}' ino respses humhﬂlﬁr
5. which must be cultivated |J!|.' l.'\.'vl.-r_l.'lnn]}'

() ADBC () ABCD

() SPRQ  {d) RSPO

fa) PSRO) {ls) POSR
feh SRPQ () PORS
Ans. (o) PSR

17. Towards midnight
P o that the sky was lighted witls
0 amd the chouds drifled away
K. the rain ceased
5. the incredilde lumg of stars
la) SPOR (b SQPR  {e) RPQS
Ans. {d) RS
18. The exhibition committee
B altractive and useful
01 to make the exhilktion
R. making oflorts

5. has been

{d) RQPS

[ah SRIF i) QPRS
(e} SKRPQ {d) QPSK
Ans. (o) SRQP
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{d) ADBC

19. They are plant eaters
P various kinds of vegetation
. lrowsing on grass
B ad consume
5. vast quantities of pasture

{a) RO (k) QSRP (el QFRS
Ans. [t} (PR%
20. It is a rule

P by anvone amd admit

0 tlsat st ot

K. of no variation

5. be violated

@QsPR (b) PSOR (c) QPRS
Ans. {m) Q5FR

21. 1 read an advertisement that said
P paosh, air conditioned
. gentlemen of taste
K. are available for
5. fully furnished rooms
{a) SRPQ () PSOR
22. The Indian woman wants
P ina mabe dominated society
Q. s an equal partner
B o it i oot boo much bo demand
5. her rightful place
(a)RSQP (1) QPSR
Ans. {c) SQFR
23. Little
P tleat be had been Lot dowan
. stood by all these vears

(c) PQRS

(c) SQFR

K. did he realise

5. b a colleague whom b had

WsPFR (b) RPSOQ [chISHIF
Ans. (b} RPSQ

24. ANl religions are
P toadvance the cuse of peace
(2. in a holy partnership
K. justice and freedom
5. baauned together
(a)PQRS (L) PROS
Ans. (d) SOFR
25. As lightning accompanies thunder
P was mingled with
. soin my character
B the mutterings of oy wrath
5. a Mash of humour
{a) QSPR () PRSQ)
Ans. (i} (JRFS

(c) SPQR

() QPRS

() RSPO

{d) RQPS

{d) PSR

{d) SRPQ

() RSQF

{d) SQPR

{d) QRPS
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Category | : Gap Filling

Directions ((). Nos. 1-36) Choose the correct option from

the given options.
1. Comrades, youall ................. about the strange
dream that 1 oo last night.
(a) heard, had (b) will heard, has
(¢) have heard, had (d) hear, has
Ans. ()
& TIRY cciicimionii to play cricket every day when
they were in the college.
(a) ought (b) used
(c) may () mmight
Ans. (b)
3. Astapler is a thing .................. you use to attach
papers together.
(a) which (b) where
(¢) who (d) whose
Ans. (a)
4. ‘There are plenty of tomatoes in the fridge. You
.................. buy any.
(a) migghtn't (b) couldn’t
(c) mustn't (d) needn’t
Ans. (d)
5. 1always keep .cocoooccvrees money in my wallet for
emergencies.
(a) any (b some
(¢) many (d) much
Ans. (b)

6. When 1 was living in London, a strange thing
ssssssianes (O ME,

o s happen
(¢) could happen
Ans. (d)

1. Hiroshima is the place ........ccco... the first atomic
bomb was dropped.
(a) whase
(¢) where
Ans. (c)

(b) happen
(d) happened

() which
(d) when
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8. There must be ..o way to knock ..o
nail in without using ..........ccc.... hammer.
() some, the, a (b) any, the, an
() much, a, the (d) many, u, the

Ans. (a)

9 Doy s in Manhattan now but he
.................. home to Brooklyn at least twice a year.
(a) live, go (b) live, went
() had live, went (d) lives, goes

Ans. (d)

10, You ..o leave small objects lying around.
Such objects .........cccc.o.e. be swallowed by children.
() needn’t, might {b) shouldn't, may
() can’t, must () mustn’t, may

Ans. (b)

11, The man sitting nest to me on the plane was
nervous because he ..., hefore.

(a) hasas't flown (b) dict ly
(c) hadn’t Aown (dl) wasn't flying

Ans. {a)

7 )T T new TV; yet, we have been
having ... problems with it over...............
last few weeks,

() u, some, the (b) the, many, a
(c) the, any, a (d) &, much, the

Ans. (a)

13. The teacher said we .................. read this book for
our own pleasure as it is optional. But we
.................. read it if we don't want to,

() mary, mstn’t (b) might, needn’t
c) cun, needn’t () caun, shouldn't

Ans. (c)

| LI 11 T —— tennis once or twice a week.
(a) is playing usually
(b) is usually playing
(c) usually plays
() phays usually

Ans. (c)
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15. We're good friends. We .................. each other for a
long time.
{a} knera: {hj have knmam
() have been knowing (e} kmew

Ans. (k)

16. Yasser Arafat is the person .................. is the
Palestinian leader.
(a} which {hj whse
) who {d) when

Ans. ()

17. Napoleon is the man ..............wife was called
Jusephine.
{a} wha {hj whose
{ic) what {d) which

Ans. (b)

18. He had been working for ... than 11 hours.

He must he tired after such hard work. He
w. prefer to get some rest.

{a) mare, may {hj manch, can
() lot, may {cl) many, might
Ans. (a)

19. Shirley .......c...coo.. @ honk about China last vear but

I don't know whether she has finished it.

(a} has writben {hj wrobe
() had written (e} was writing

Ans. (b)

20. Hev, look where vou are going! Oh, U'm terribly
SOITY, .

(a I’ r|1r|nlr|l1h.|.u1ﬂ .
(ch | haven't notioed

{hj 1 wasn't nobicing
(e} 1 clon’t naotine

Ans. (b)
21. The rain was pouring down in torrenis but there
WS B oooeenannniancess WL,
{a) a few {h) kitthe
{ch mush (e} fewer
Ans. ()
22. ..o students sucveeded in passing than last
vear,
(@Al (WAfew  ()Moch () Fewer
Ans. (d)
23. Nancy is not coming tonight. But she ...
[} promises (b promised
() will promise (e} hael promised
Ans. (d)

24. 1 hought ... . grapes from a stall, On

LW hmm? I ate them and had none left
'l.'l'lhEII I mac]'u.-d home.

(a) some, the (b) much, a (o) lewer, the  {d) many, the

Ans. {a)

25. It's a secret. You .oeecneee.
fa) mightn't  (h) nausin’

Ans. (b}
26. You ...oooooeoeees study hard to achieve success in
your entrance exam.
fa) used io ) emagghit biw
) need to (i} hanve b
Ans. (b}
27. My mother doesn't drink ..o coffee.,
fa) umy (k) many
) much (e} semmae
Ans. (c)

28. When | went back to my hometown three vears

tell anyhody.

() needn’t () daren't

ago, | found that a lot of changes ...

fa) are taken place

) have taken place

Ans. (c}

29. 'm sorry the house is not available any longer. It

) were I:lh'n plnl:t' h

(e} hael taken place

. to a timber tyeoon.

h:l n-luld
f) has been sald
Ans. (c)

A0, Passengers ...

fa) are not allwed
) hacl mot allswed
Ans. {a)

M. We inwited

a harbecue.

) cach

fe) alittle
Ansz. (d)

32. The student’s ...oocoveeen.e.

immediately.
{a) ordered
f) have ordered

3. Sunday is the day ...

) waus heing sold
{el) weill be sald

to smoke in the train.

) was not allowed
{el) will not allow

friends over to our house for

) mnch
el a B

) will wreler
(i} hanve bewen ardened

respect a day of rest in the week.

fa) which
fi) what
Ans. (b}

M. The roof may have been leaking for the past few

weeks but vou do not have to worry about it any
longer. It ool

fa) was repaired
fh} is repairing

) hax been repained
) is being repaired

Ans. (c}

) when
(i} whise

JELERLES

to leave the building

mist countries
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